



# STC SOUTH CAMBERWELL CRICKET CLUB

# ANNUAL REPORT 2009/10







MACGIBBON SHIELD PREMIERS 2008/09

20 June 2010

Dear Member,

On behalf of President Paul Zennaro and the Committee, it is my great pleasure to table the 2009/10 STC South Camberwell Cricket Club Annual Report.

This report is the 43rd to be presented to our members and includes reports from our six senior teams, the highly successful junior program and extensive player statistics.

Special thanks must go to everybody that made a contribution to the preparation of this report, in particular John Krohn for his assistance with statistical and historical information.

Sincerely,

Kylie Zennaro Secretary

STC SOUTH CAMBERWELL CRICKET CLUB PO BOX 2037

**CAMBERWELL WEST VIC 3124** 

T: 0417 053 613

E: <u>INFO@STCCRICKET.COM.AU</u>
W: <u>WWW.STCCRICKET.COM.AU</u>

# **CONTENTS**

Honour Board	5
Office Bearers	7
Sponsors	8
Premierships	9
HALL OF FAME	9
LIFE MEMBERS	10
Special Awards 2009/10	10
Presidents Report	11
Junior Section Report	12
Junior Awards	13
First XI Report	14
First XI Stats 2009/10	15
TEAM RECORDS 2009/10: FIRST XI	16
Overall Team Records To End 2009/10: First XI	17
Second XI Report	18
Second XI Stats 2009/10	19
Team Records 2009/10: Second XI	20
Overall Team Records To End 2009/10: Second XI	21
Third XI Report	22
THIRD XI STATS 2009/10	
Team Records 2009/10: Third XI	25
Overall Team Records To End 2009/10: Third XI	26
Fourth XI Report	27
Fourth XI Stats 2009/10	28
TEAM RECORDS 2009/10: FOURTH XI	30
Overall Team Records To End 2009/10: Fourth XI	31
Fifth XI Report	32
FIFTH XI STATS 2009/10	33
TEAM RECORDS 2009/10: FIFTH XI	36
Overall Team Records To End 2009/10: Fifth XI	37
CLUB XI REPORT	38
CLUB XI STATS 2009/10	
TEAM RECORDS 2009/10: CLUB XI	
Overall Team Records To End 2009/10: Club XI	42
Top Tens – 2009/10	43
Top 10 Performers In STC History	
All Player Performances 2009/10	
T20 Aggregate performances to end 2009/10	50
ALL PLAYER PERFORMANCES (AGGREGATE) TO END 2009/10	51

# HONOUR BOARD

SEASON	PRESIDENT	SECRETARY	FIRST XI	CLUB	BEST	BASIL
			CAPTAIN	CHAMPION	CLUBMAN	FINNIGAN MEDALLIST
1967/68	A Yarwood	A Burt	A Burt	D Harrison		
1968/69	G Mazoletti	K Burt	A Burt	D Harrison		
1969/70	G Mazoletti	K Burt	A Yarwood	M Cain		
1970/71	G Mazoletti	K Burt	A Yarwood	M Cain		
1971/72	A Burt	K Burt	A Yarwood	J Martin		
1972/73	A Burt	K Burt	A Yarwood	M Cain		
1973/74	A Burt	K Burt	K Burt	J Martin		
1974/75	A Burt	K Burt	K Burt	B Finnigan		
1975/76	A Yarwood	M Wignell	K Burt	G Wignell	K Burt	
1976/77	A Yarwood	M Wignell	K Burt	M Robertson	M Yarwood	
1977/78	P Sandilands	P Spithill	P Sandilands	G Wignell	B Brell	
1978/79	P Sandilands	P Spithill	P Sandilands	G Wignell	E Fitzwilliam	
1979/80	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1980/81	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1981/82	P Sandilands	E Fitzwilliam	G Wignell	G Wignell	P Pawsey	
1982/83	P Sandilands	P Pawsey	P Sandilands	G Wignell	P Stewart	
1983/84	R Fitzwilliam	P Pawsey	B Cain	B Cain	B Docherty	
1984/85	R Fitzwilliam	P Pawsey	K Burt	C Hoare	Mrs D Burt	
1985/86	K Burt	Mrs M Smith	K Burt	C Hoare	M Drew	G Walker
1986/87	K Burt	P McHenry	C Hoare	C Hoare	D Zennaro	P Wignell
1987/88	K Burt	P McHenry	B Docherty	G Wignell	P McHenry	G Wignell
1988/89	K Burt	E Fitzwilliam	B Docherty	B Docherty	P Docherty	B Docherty E Fitzwilliam G Wignell
1989/90	I Constable	E Fitzwilliam	B Docherty	M Learmonth	J Murray	M Learmonth
1990/91	I Constable	E Fitzwilliam	B Docherty	M Learmonth	R Molloy	G Walker

SEASON	President	SECRETARY	FIRST XI CAPTAIN	CLUB CHAMPION	BEST CLUBMAN	BASIL FINNIGAN MEDALLIST
1991/92	B Docherty	R Molloy	B Docherty	B Docherty	P McHenry	G Walker
1992/93	B Docherty	K Burt	P Docherty	P Williams	R Hoich	P Williams
1993/94	B Docherty	K Burt	P Docherty	P Williams	M Molloy	J Hall C Hoare
1994/95	B Docherty	S Ross	B Docherty	B Docherty	Mrs K Burt	C Wood
1995/96	G Chard	S Ross	P Warcarba	B Docherty	A Purcell	B Docherty
1996/97	G Chard	S Ross	P Warcarba	P Warcarba	A Daly	P Warcarba
1997/98	S Ross	S Waller	P Warcarba	P Warcarba	A Tracey	R McDowall D Burt
1998/99	S Waller	S Weerasinghe	S Joyce	B Docherty R McDowall	J Di Stefano	M Thackwray
1999/00	R Corbett	P Zennaro	B Docherty	B Docherty	P Lynch	M Pivetta
2000/01	R Corbett	P Zennaro	S Joyce	D Sotiriadis	P Morrison	L D'Astoli
2001/02	G Chard	P Zennaro	P Fisicaro	B Docherty	R Corbett	S Hoy M Pivetta
2002/03	G Chard	P Zennaro	P Fisicaro	S O'Connell	P Fisicaro	S Hoy J Krohn
2003/04	Dr T Bach	P Zennaro	P Fisicaro	S O'Connell	G Chard	L D'Astoli
2004/05	Dr T Bach	N Fennessy	S O'Connell	S O'Connell	A Michaelides	M Mitchell
2005/06	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	P Zennaro	D Smith
2006/07	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	R & K Corbett	N Hodgson
2007/08	S Hoy	Mrs K Zennaro	S O'Connell	L D'Astoli	S O'Connell	L D'Astoli
2008/09	P Zennaro	Mrs K Zennaro	S O'Connell	Tom Bach	M Francis	A Ross
2009/10	P Zennaro	Mrs K Zennaro	S O'Connell	S O'Connell	Mrs K Zennaro	P Morrison

#### **OFFICE BEARERS**

PRESIDENT Paul Zennaro

VICE PRESIDENT (SENIOR) Stirling Rowe

VICE PRESIDENT (JUNIOR) Stuart Hamilton (acting)

Secretary Kylie Zennaro

TREASURER Daniel Burt

COMMITTEE Tanya Clark

Luke D'Astoli

Brendan David

Matthew Francis

Martin Lynch

Peter Morrison

Michael O'Connell

**Daniel Sharpe** 

1st XI Captain Stephen O'Connell

2ND XI CAPTAIN Brad Craine/Ben Banks-Smith

3RD XI CAPTAIN Daniel Sharpe

4TH XI CAPTAIN Peter Morrison

5TH XI CAPTAIN Chris Giannakopoulos

CLUB XI CAPTAIN Robert Kimber

**ECA DELEGATES** Matthew Francis

Kylie Zennaro

Public Officer Eugene Fitzwilliam

PARKS AND GARDENS

John Krohn

HOWZAT EDITOR

Martin Lynch

SELECTION COMMITTEE Jack Krohn (Chairman)

Russ Flint

Rohan Worthy

#### **S**PONSORS

Our sponsors are vital to keeping our club alive. We value their support, as much as they value our continued custom and referral. Please utilise their services, and let them know you are from STC.

Sponsor	CONTACT	TELEPHONE	WEBSITE/EMAIL
JA CAIN FIRST NATIONAL REAL ESTATE	Brian Cain	9805 2900	www.jacain.com.au
BENDIGO COMMUNITY BANK ASHBURTON, CANTERBURY & SURREY HILLS BRANCHES	Linda Jones	9885 2666	www.bendigobank.com.au
CAMBERWELL SOUTH CELLARS	James Hall	9889 6119	www.camberwellsouthcellars.com.au
BEHAN & BEHAN PTY LTD	Ed Behan	9877 3577	ebehan@behan.com.au
MERKON CONSTRUCTIONS	Peter Mercoulia	9555 3999	www.merkon.com.au
PLAYERS EDGE SPORTS	Cameron Toomey	9886 0911	www.playersedge.com.au
PURCELL AND PURCELL	Anthony Purcell	9741 3777	anthony@purcellandpurcell.com.au
CUSTOM FINANCIAL AND RETIREMENT SOLUTIONS	Bernard Docherty	9590 0094	www.cfrs.amp.com.au
QUEST APARTMENTS PRAHRAN	Sarah Behan	9823 8888	www.questprahran.com.au
DURALITE	David Francis	9551 6756	www.kittscrumble.com.au

#### **PREMIERSHIPS**

1968/69 1<sup>st</sup> XI ESCA "A" Grade Matting

1970/71 1<sup>st</sup> XI ESCA "A" Grade Matting

1977/78 2<sup>nd</sup> XI ESCA "C" Grade Matting

1978/79 3<sup>rd</sup> XI ESCA "E" Grade Matting

1980/81 3<sup>rd</sup> XI ESCA "E" Grade Matting

1987/88 1<sup>st</sup> XI ESCA "A" Grade Matting

1995/96 3<sup>rd</sup> XI ESCA "C" Grade Matting

1998/99 4<sup>th</sup> XI ESCA "D" Grade Non Turf

2001/02 1<sup>st</sup> XI ECA Burt Shield

**2001/02** 2<sup>nd</sup> XI ECA "A" Grade God

2002/03 2<sup>nd</sup> XI ECA Burt Shield

2002/03 4<sup>th</sup> XI ECA "B2" Grade Blue

2002/03 Club XI ECA One Day Division 2

2003/04 1<sup>st</sup> XI ECA Macgibbon Shield

2003/04 2<sup>nd</sup> XI ECA Burt Shield

2008/09 1<sup>st</sup> XI ECA Macgibbon Shield

#### HALL OF FAME

2002 Kevin Burt

2002 Basil Finnigan

2002 Peter Sandilands

2002 Greg Wignell

2002 Alan Yarwood

2007 Chris Hoare

2007 Michael Wignell

#### LIFE MEMBERS

1975 Alan Burt

1975 Alan Yarwood

1977 Kevin Burt

1977 Peter Sandilands

1978 Robert Fitzwilliam

1980 Michael Wignell

1984 Eugene Fitzwilliam

1990 Bernard Docherty

1991 John Krohn

1991 Bryan Cain

1991 Joe Cain

1993 Paul McHenry

1993 Peter Pawsey

1995 Justin Murray

1995 Tim Allen

1999 Patrick Docherty

1999 Basil Finnigan

2005 Anthony Michaelides

2007 Tim Bach

2008 Garry Chard

2010 Paul Zennaro

# SPECIAL AWARDS 2009/10

BASIL FINNIGAN MEDALLIST Peter Morrison

BEST CLUBMAN Kylie Zennaro

MOST IMPROVED PLAYER Matthew Francis

BEST FIRST YEAR PLAYER Sam Fairbrother

#### PRESIDENTS REPORT

2009/10 was a year in which STC's administration continued to push boundaries in its mission to keep the club one of the largest and most powerful in the eastern suburbs.

This year saw the club unveil new and improved facilities for players, with the erection of new nets at Nettleton Park and a new pitch at Swinburne. Both new facilities were a credit to the hard work of the committee over many years, and a testament to the relationships the club has built with council and other organisations in the community. This year we also signed off plans for a \$200,000 refurbishment of the clubrooms at Nettleton Park, which will see improved storage, a new roof and improved bathroom facilities for female patrons. We have also agreed with council for a complete resurfacing of Nettleton Park with drought tolerant grass – which will lead to a much better playing surface.

While the season may have been disappointing on the field, congratulations must go to the Club XI for making the finals, only to be denied a grand final berth by the weather. Also congratulations to the Second XI and Under 16As for making their respective grand finals – and representing the club with great spirit. While victory may have eluded both teams, all the supporters that attended were proud of their efforts.

The First XI was once again superbly led by Stevie O'Connell and Luke D'Astoli. While their home and away season was not one for highlight reel, the club's performance in two T20 competitions is one of STC's proudest achievements over the last four decades. To make the top eight in all of Victoria was evidence of a great club and a champion team. When the club was founded in the late 1960s, making the top eight in Victoria would have been laughed at. But it happened, much to the joy of all who fought Wednesday afternoon traffic to attend the games. We may have missed our chance to play on the MCG, but that too will come!

The club also set a new direction by appointing its first professional coach in over ten seasons. Greg Moore came to STC with fine credentials, good references from STC people and the strong support of the committee. All involved learned a lot this year. Greg about being a senior coach, and players about the type of professionalism required to take the next step as cricketers.

As STC moves into the next decade there a range of challenges the club faces. The first is the lack of volunteers that want to put their hands up to help run the club. While STC's on field numbers may be at an all time high, the strain on the dedicated members of the committee are greater than ever. My challenge to all club members is to do more to help the committee. Simple things like emptying some bins, picking up rubbish and volunteering to help with junior training. All these actions help the dedicated group of twelve that give so many hours a week to make sure you can play cricket.

The second is the increasing burden of regulation. This year the club faced great scrutiny over its liquor licence. This will continue – it is the world we now live in. While I am sure the new committee will do all in its power to improve licence hours, we must all acknowledge the world has changed. Please support the committee in managing these difficult situations, and remember they are doing it in the club's best interests.

At this point I would like to thank the committee for their tireless support over the year. They all worked so hard but I would like to single out Kylie Zennaro, who quite simply does far more than anyone else, and my vice-presidents Stuart and Stirling who were a great support in not only doing things but leading the direction.

I have taken the decision to step down from the committee at the end of this season. After fourteen consecutive years of cricket administration I have decided it is time to take a year off. The last few years as president has been a realisation of a long held ambition, and something that I have enjoyed every minute of. Thank you for giving me the opportunity to lead this amazing club.

Yours in cricket.

PAUL ZENNARO
CLUB PRESIDENT

#### JUNIOR SECTION REPORT

#### **SEASON HIGHLIGHTS**

- 7 teams entered in the ECA competition 2 x U10, 2 x U12, 1 x U14, 2 x U16
- 1 x Premiership U12B ER Frampton
- 1 x Grand final appearance U16A Grace Shield
- Alex Ross was selected in the U16 South East Seagulls Dowling Shield team
- 7 club members selected in ECA representative sides:
  - U12 Mitchell Shield Sam Barnett, Fred Oldfield
  - o U12 Josh Browne Plate Jake Victor
  - o U16 Beitzel Shield- Angus Hamilton (C), Simon Hearn, Rob McCarthy
  - U16 Keith McKay Cup Tim Wood
- A number of members trialed for the U13 VPSSA team
- Sam Barnet won the ECA batting award for the U12B Frampton Shield
- MILO In2Cricket clinic had 50 children attend

#### **TEAM RESULTS**

- U10 Reds Finished 5th. Had a great season and played some very enthusiastic cricket.
- U10 Blues Finished 6th. A younger team that has some talented cricketers.
- U12 Reds Finished 1st in B Grade. Drew their game against joint premiers Ashwood.
- U12 Blues Finished 5<sup>th</sup> with some great wins through the season. The only team to beat the premiers.
- U14 Reds Finished 8<sup>th</sup>. Lacked the depth to win at this level but enjoyed each game.
- U16 Reds Finished 2<sup>nd</sup>. Were beaten by player availability and a better side in the Grand final.
- U16 Blues Finished 6<sup>th</sup>. Had a good season as a first year U16 team. Were competitive.

STC Juniors had another strong year and continue to play good cricket. We had almost 100 boys playing cricket on Friday night or Saturday morning. Basil Finnigan continued to put in a great deal of work with our young stars. Senior support at training was fantastic this year thanks to the effort of Brendan David in organising the roster. A number of parents helped at U10 and U12 training. The improved nets made training a lot easier.

Thank you to all the parents that assisted as Team Managers, Scorers, Umpires, set up, canteen, transport, etc, etc. Their support is invaluable and greatly appreciated.

# STUART HAMILTON ACTING JUNIOR VICE PRESIDENT

# JUNIOR AWARDS

	BOWLING AWARD	BATTING AWARD	TEAM MANAGER AWARD	MOST IMPROVED
U10 RED	Josh Woodbridge	Joe Ayton- Delaney	Angus McLean	
U10 BLUE	Decan Foley	Thomas Sheehan	Sacha Sapsford	
U12 RED	Tom Shatin	Harrison Lagastes	Lachlan McDonald	Harrison Healy
U12 BLUE	Dion DiBattista	Jacob Mackenzie	James Briggs	
U14 RED	Jake Victor	Jack McLoughlin	Richard McDonald	William O'Brien
U16 RED	Alex Ross	Simon Hearn	N/A	
U16 BLUE	Richard McDonald	Matthew Thomas	N/A	Tim Wood
U16 RED TEAM CHAMPION	Robert McCarthy			
U16 BLUE TEAM CHAMPION	Dom Hando			
U10 SPIRIT OF CRICKET	Liam Bonato			
U12 GEORGE COLEMAN	Patrick O'Leary			
JUNIOR CLUB CHAMPION	Matthew Thomas			
JUNIOR BEST CLUBPERSON	Steve Ross			

#### FIRST XI REPORT

It's fair to say that this season we didn't reach anywhere near the same level of performance as last season. We played a total of 21 games this season which included 9 twenty20 games and in hindsight the extra midweek games probably contributed a little to our poor performance in the defence of our Macgibbon shield. But this is by no means an excuse for not making the finals for the first time in 7 years. Our bats were inconsistent and our bowlers just didn't quite have the same potency and venom of the past.

We started the season with a comfortable win against Trinity, however that's as comfortable as it got for us for the season. We dropped way too many games this season which included an outright loss to BUC which we won't revisit. Unfortunately we couldn't back up from last years form. With the bat we had only 2 players score over 300 runs and with the ball only one player take more than 20 wickets. Last season we had 4 players score over 300 runs and 3 players take more than 20 wickets, so these stats are a fair indication on why we missed out on the top four.

Although we didn't reach the standards and expectations of an STC first XI in the Macgibbon shield there were still positives. One of those positives was Dan O'Connell's blistering breakthrough century in the 1<sup>st</sup> XI against Clifton Hill. One of Dan's goals after the Christmas break was to score his first ton in the 1<sup>st</sup> XI and it was fantastic to see him achieve this goal. Adam D'Addazio's 5 wicket haul against Manningham was also a highlight of the season, tearing through their top order. We look forward to Adam having a less interrupted season next year so he can tear through the rest of the Macgibbon shield sides top orders, and I'm sure from watching the way he bowled in the 2<sup>nd</sup> XI grand final that 'Disco' will have a big year next season.

As I mentioned before we also played 9 twenty20 games this season in 2 different competitions. The ECA Primary Edge Cup and the Kookaburra Statewide Cup where most of our highlights came from for the season. We managed to reach the quarter final stage of both competitions and were only two games away from playing at the MCG in the statewide competition. In the statewide we had 3 amazing wins. Our first win against East Doncaster actually ended in a tie, but we then went on to win in a bowl off. We then had a 4 run win against Bulleen-Templestowe and an amazing 1 run win against Mooroolbark in which our last wicket was taken by a run out. Some amazing games of cricket and a fantastic experience for the boys, but unfortunately we couldn't take our twenty20 form into the Macgibbon shield.

Congratulations must go out to Luke D'astoli and Sam Fairbrother who tied to win the inaugural twenty20 Player of the Year. Both had great seasons in the twenty20 format. Congratulations again to Sammy who also won the best first year player, Sam played the entire season in the 1<sup>st</sup> XI and is a great young prospect for the future.

I'd like to thank Paul Zennaro and the rest of the committee for all their hard work this season. As always they worked tirelessly behind the scenes to ensure the club runs smoothly and continues to move forward. As we all know Paul is moving on as President and I'd like to congratulate him on his work not only as President but also as Secretary of our club which he did for many a year. Although Paul is no longer on the committee I'm sure he'll still have an influence around the club.

I'd also like to thank club coach Greg Moore and my vice-captain Luke D'Astoli for their on field leadership. Both were of great support. I'd also like to thank Ro Worthy for his support and leadership over the last 5 years. Ro has indicated that he'll be spending more time with his young family so won't be able to commit to a full season, so thanks Ro for your contribution.

Finally thanks to all players who played in the 1<sup>st</sup> XI this season. Unfortunately we couldn't back up from last seasons glory, but with a massive pre-season and the determination to put this seasons disappointments behind us, I'm certain that the boys will step up and you'll see STC back up the top of the Macgibbon shield where we belong! GO SAINTS!

#### STEVE O'CONNELL

FIRST XI CAPTAIN

# **FIRST XI STATS 2009/10**

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Bach Tom	98/99	9	116	8	14.5	0	0	44*	-	-	-	-	-	10	-	-
Banks- Smith B	98/99	9	25	5	5.0	0	0	9	-	-	-	-	-	4	-	-
Classon A	02/03	2	3	1	3.0	0	0	3	5	58	11.6	0	3/38	1	-	-
Colman L	02/03	6	4	2	2.0	0	0	2	7	128	18.3	0	2/19	1	-	-
D'Addazio A	04/05	6	17	4	4.3	0	0	14	9	116	12.9	1	5/32	0	1	-
D'Astoli L	96/97	13	223	10	22.3	1	0	54*	25	505	20.2	0	4/21	7	-	-
Di Stefano Julian	92/93	9	224	9	24.9	2	0	62*	-	-	-	-	-	1	4	0
Fairbrother S	09-10	12	181	9	20.1	0	0	45	10	301	30.1	0	3/28	9	1	-
Flint R	06/07	12	250	11	22.7	1	0	75	0	31	-	0	0/8	5	-	-
Kerr D	04/05	1	6	1	6.0	0	0	6	-	-	-	-	-	0	-	-
King A	08-09	8	126	7	18.0	0	0	44	-	-	-	-	-	2	-	-
Mercoulia P	99/00	6	72	4	18.0	0	0	40	-	-	-	-	-	1	1	-
Moore G	09-10	7	2	3	0.7	0	0	1*	17	399	23.5	0	3/45	1	-	-
O'Connell D	96/97	12	354	12	29.5	3	1	103	-	-	-	-	-	8	-	-
O'Connell M	99/00	7	30	6	5.0	0	0	11	11	133	12.1	1	6/13	5	-	-
O'Connell S	93/94	12	501	13	38.5	2	1	141	-	-	-	-	-	-	19	3
Spithill D	97/98	9	15	5	3.0	0	0	11	7	300	42.9	0	2/12	4	-	-
Worthy R	03/04	13	49	6	8.2	0	0	13	18	353	19.6	0	4/17	5	-	-

#### TEAM AWARDS

Batting Champion – Steve O'Connell
Bowling Champion – Luke D'Astoli
Club Champion – Steve O'Connell
20/20 Players of the Year – Luke D'Astoli and Sam Fairbrother

# TEAM RECORDS 2009/10: FIRST XI

Wĸт	PARTNERS	Runs	OPPOSITION
1	Julian di Stefano & D O'Connell	102	Wyclif
2	D O'Connell & S Fairbrother	49	Clifton Hill
3	Julian di Stefano & S O'Connell	117	Burwood Uniting Canterbury
4	S O'Connell & R Flint	58	Manningham
5	S O'Connell & Tom Bach	122	Clifton Hill
6	R Flint & L D'Astoli	41	Manningham
7	L D'Astoli & P Mercoulia	75	Deepdene Uniting
8	R Flint & A Classon	14	Boroondara
9	L D'Astoli & R Worthy	37	Manningham
10	L D'Astoli & A D'Addazio	26	Manningham

TEAM'S HIGHEST SCORE	7/341	Clifton Hill
TEAM'S LOWEST SCORE	83	Deepdene Uniting
HIGHEST SCORE AGAINST	4/226	Wyclif
LOWEST SCORE AGAINST	103	Wyclif
HIGHEST INDIVIDUAL SCORE	S O'Connell	141 v Clifton Hill
HIGHEST AGGREGATE	S O'Connell	501 @ 38.5
BEST BOWLING PERFORMANCE	M O'Connell	6/13 v Trinity Willison
MOST WICKETS IN SEASON	L D'Astoli	25 @ 20.2
MOST CATCHES IN SEASON (FIELDER)	Tom Bach	10
MOST CATCHES IN SEASON (KEEPER)	S O'Connell	19
MOST STUMPINGS IN SEASON	S O'Connell	3

# OVERALL TEAM RECORDS TO END 2009/10: FIRST XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	R MacDowall & R Moore	170	Mulgrave	1997/98
2	K Burt & P Liddy	219	AYC	1970/71
3	G Wignell & P Sandilands	280	Glen Iris	1975/76
4	B Finnigan & M Robertson	213	Canterbury	1976/77
5	J Martin & W Pendry	194	Doncaster	1973/74
6	W Pendry & J Sullivan	224	Glen Iris	1974/75
7	G Wignell & B Finnigan	135	Ashwood	1980/81
8	M Duggan & E Fitzwilliam	113	South Camberwell	1987/88
	B Docherty & A Michaelides	113	Box Hill South	1990/91
9	D Harrison & G Burt	120	Wattle Park	1971/72
10	A Nicholson & D Spithill	82	B'wood Utg C'bury	2002/2003
TEAM'S	HIGHEST SCORE	5/503	Kooyong	1998/99
TEAM'S	LOWEST SCORE	34	Park Orchards	1969/70
HIGHES	SCORE AGAINST	8/395	AYC	1980/81
LOWEST	SCORE AGAINST	33	Wattle Park	1967/68
HIGHES	INDIVIDUAL SCORE	228	Mark Robertson	1976/77
HIGHES	AGGREGATE	723	Chris Hoare	1985/86
BEST BO	WLING PERFORMANCE	10/52	John Aspinall	1973/74
Most w	VICKETS IN A SEASON	68	Michael Learmonth	1989/90
Most c	ATCHES IN A SEASON	37	Kevin Burt	1968/69
Most s	TUMPINGS IN A SEASON	18	Kevin Burt	1972/73

#### SECOND XI REPORT

The 2009/10 season was definitely a unique and successful year for the second XI. By season's end the team would have experienced 4 captains, 27 players which included an abundance of youth, a run of winning 10 out of the final 11 games, leading into the grand final, Although we lost the game that matters, there was a group of disappointed but proud group of blokes who proved that this club is more than worthy of having two teams in the top two grades of the competition.

The year started off in the best possible way, with an outright victory against Hartwell and promised good things to come. Unfortunately the next three games were lost quite convincingly and left the team languishing towards the bottom of the table. The loss in round 4 would be the second last defeat that the team would encounter up until the grand final.

Along the way the side had compelling victories in twice defeating last year's Burt Shield runner up in Nth Balwyn combined. A 170 run victory against Blackburn Nth, who had beaten us easily just two rounds prior. An easy 6 wicket win against our semi finalists and general mast blokes from Glen Iris, two easy wins against BUC. And my personal favourite, a come from nowhere victory against Hawthorn. After batting first we found ourselves in massive trouble at 4/6 and then 5/17, only to be rescued by Tony Suresteps (37) and Mick O'Connell (86) and managing to set a total of 163. At the end of that days play we had Hawthorn 8/140. The following Saturday, with amazing bowling from Andrew Classon 4/42 of 17 and Loz Colman 4/51 off 15 we managed to bowl Hawthorn out for 153, a 10 run victory. This win ensured that the 2's would be in the finals for the second year in a row.

Lucky for us and unlucky for Glen Iris, the heavens decided to open on both days of the semi which gave us an easy ride into the grand final. However, our batting, which had been so reliable for most of the season, had let us down in the Grand Final, with only Tony Sturesteps providing any resistance with a fighting 72. The total of 155 was simply not enough, and despite an unbelievable spell of Bowling from Adam D'Addazio (3/49 off 26) we weren't able to walk away with the Burt Shield. But as I said to all the boys after the game, it was a fantastic effort to reach the Grand final, and that the loss should hurt, to let it hurt and make sure that next year we use that to go one step further.

On a positive note, out of the 27 players for the 2's this year, 12 are 25 and under. To see blokes like Andrew Krohn, Fabian D'Adazzio, Jordan Anthony, Tom Casha and Tim Sharpe become regular member of the team promises successful times ahead. In addition to this, Loz Colman, Beau Coyle and Adam D'Adazzio are the future of our club, and the future looks bright.

BEN BANKS-SMITH
SECOND XI CAPTAIN

# **SECOND XI STATS 2009/10**

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Anthony J	09/10	9	108	7	15.5	1	0	64	-	-	-	-	-	1	-	-
Banks- Smith B	98/99	8	282	8	35.3	0	1	104*	4	94	23.5	0	2/21	4	-	-
Burt D	03/04	7	76	6	12.7	0	0	30	-	-	-	-	-	2	-	-
Casha T	03/04	14	186	14	13.3	0	0	35	4	95	23.7	0	2/35	4	-	-
Classon A	02/03	13	150	7	21.4	0	0	35	18	434	24.1	0	4/42	3	-	-
Colman L	02/03	6	52	3	17.3	0	0	20	19	214	11.3	0	4/35	0	-	-
Coyle B	03/04	10	199	6	33.2	2	0	67	11	138	12.5	0	3/21	4	-	-
Craine B	02/03	5	14	3	4.7	0	0	6	6	186	31.0	0	4/55	1	-	-
D'Addazio A	04/05	5	20	3	6.7	0	0	12	7	167	23.8	0	3/49	3	-	-
D'Addazio F	07/08	9	117	8	14.6	0	0	48	-	-	-	-	-	1	1	-
Di Stefano J	92/93	4	363	2	181.5	1	2	161*	-	-	-	-	-	-	6	0
Doyle D	07/08	4	6	1	6.0	0	0	6	8	146	18.2	0	4/51	0	-	_
Elliott G	01/02	7	130	6	21.7	0	0	46	-	-	-	-	-	5	-	-
Fisicaro P	99/00	5	74	5	14.8	1	0	56	8	102	12.7	0	4/33	2	-	-
Hamilton A	06/07	4	34	4	8.5	0	0	17	2	79	39.5	0	2/42	1	-	-
Hynes C	00/01	2	13	2	6.5	0	0	8	1	36	36.0	0	1/36	0	-	-
Kerr D	04/05	4	94	4	23.5	1	0	69	1	11	11.0	0	1/11	1	-	-
King A	08/09	4	102	3	34.0	0	0	37*	2	42	21.0	0	2/18	1	-	-
Krohn A	06/07	10	18	4	4.5	0	0	9	11	241	21.9	0	3/6	4	-	-
Lynch M	94/95	5	7	1	7.0	0	0	4*	6	170	28.3	0	4/33	1	-	-
Lynch P	89/90	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Mercoulia P	99/00	3	82	3	27.3	0	0	42	0	14	-	0	0/14	1	-	-
O'Connell M	99/00	8	194	7	27.7	2	0	86	7	173	24.7	0	3/13	4	-	-
Sharpe T	05/06	8	36	6	6.0	0	0	30	-	-	-	-	-	-	9	0
Spithill D	97/98	2	99	1	99.0	1	0	65*	4	84	21.0	0	2/20	1	-	-
Sturesteps A	09/10	5	141	5	28.2	1	0	72	1	29	29.0	0	1/14	3	-	-
Zennaro P	88/89	2	13	2	6.5	0	0	10	-	-	-	-	-	0	-	-

#### TEAM AWARDS

Batting Champion – Ben Banks-Smith Bowling Champion – Andrew Classon Club Champion – Andrew Classon

# TEAM RECORDS 2009/10: SECOND XI

WKT	PARTNERS	Runs	OPPOSITION
1	Julian di Stefano & D Kerr	139	Hartwell OCG
2	B Banks-Smith & A Classon	109	Hawthorn
3	Julian di Stefano & T Casha	57	Blackburn North United
4	M O'Connell & D Spithill	73	Glen Iris
5	Julian di Stefano & B Coyle	97*	Hartwell OCG
6	M O'Connell & T Sturesteps	96	Hawthorn
7	Julian di Stefano & J Anthony	124	Blackburn North United
8	B Coyle & T Sharpe	55	Burwood Uniting Canterbury
9	T Sharpe & L Colman	27	Burwood Uniting Canterbury
10	A Classon & L Colman	12	St Barnabas

TEAM'S HIGHEST SCORE	7/366	Blackburn North United
TEAM'S LOWEST SCORE	77	St Barnabas
HIGHEST SCORE AGAINST	214	Burwood Uniting Canterbury
LOWEST SCORE AGAINST	101	Hartwell OCG
HIGHEST INDIVIDUAL SCORE	J Di Stefano	161* v Blackburn North United
HIGHEST AGGREGATE	J Di Stefano	363 @ 181.5
Prest polytime presentance	P Fisicaro	4/33 v Blackburn North United
BEST BOWLING PERFORMANCE	M Lynch	4/33 v Hartwell OCG
MOST WICKETS IN SEASON	L Colman	19 @ 11.3
MOST CATCHES IN SEASON (FIELDER)	G Elliott	5
MOST CATCHES IN SEASON (KEEPER)	T Sharpe	9

# OVERALL TEAM RECORDS TO END 2009/10: SECOND XI

OVE	RALL TEAM RECORDS TO I	O: SECOND XI		
Wĸт	PARTNERS	Runs	OPPOSITION	SEASON
1	S McCulloch & A Nicholson	265	North Balwyn	1999/2000
2	B Finnigan & R Lagreca	209	Mulgrave	1984/85
3	Julian di Stefano & S Hoy	218	Preshil	2007/08
4	P Docherty & K Lynch	179	Ashwood	1981/82
E	P Sandilands & M Griffiths	131	Deepdene	1985/86
5	D Balthazaar & J Leahy	131	West Hawthorn	1973/74
6	Tom Bach & M Molloy	190	B'wood Utg Canterbury	2003/04
7	F D'Addazio & B Craine	141	Preshil	2008/09
8	M Crossin & P Wignell	126	Box Hill South	1979/80
9	K Lynch & A Deith	134	Burwood	1984/85
10	P Docherty & D Stoney	146*	R'dale-B'dara	1997/98
TEAM'S	S HIGHEST SCORE	7/463	East Doncaster	1979/80
TEAM'S	S LOWEST SCORE	37	Box Hill South	1987/88

TEAM'S HIGHEST SCORE	7/463	East Doncaster	1979/80
TEAM'S LOWEST SCORE	37	Box Hill South	1987/88
HIGHEST SCORE AGAINST	588	St Kevins	1975/76
LOWEST SCORE AGAINST	14	North Balwyn	1972/73
HIGHEST INDIVIDUAL SCORE	250*	Basil Finnigan	1979/80
HIGHEST AGGREGATE	568	Richard Corbett	1999/2000
BEST BOWLING PERFORMANCE	9/18	Paul Aspinall	1972/73
MOST WICKETS IN A SEASON	51	Stephen Hoy	2001/02
MOST CATCHES IN A SEASON	32	Julian di Stefano	2001/02
	6	John Krohn	1986/87
MOST STUMPINGS IN A SEASON	6	Patrick Spithill	1980/81
	6	Doug Baguley	1972/73

#### THIRD XI REPORT

The 2009-10 season for the STC 3XI was an inconsistent year with exceptional performances, and also some which were not up to scratch. The team itself was quite unsettled, with 40 players representing the team during the season. We finished 6th, needing an outright win in the last round against Ashwood to progress to finals, but unfortunately Ashwood forfeited which closed our season one match early.

Throughout the year, the majority of standout performances were done by players who worked hard and did improve significantly. There were seven (7) scores above 50 for the year, and 4 were made by players who ended up spending their time in the 2XI. Jordan, Fabian, Andrew Krohn and Gus Hamilton. All four are young and will be fantastic players. Dan Burt (59) and Paul Zennaro (51) were the other two scores above 50, with Dan Sharpe scoring his maiden ton with 154\* against Ashwood in Round 2. This score went a long way to Sharpey securing his second consecutive 3XI batting average with 361 @ 32.8. Four other players scored over 100 runs for the season (Jordan, Fabian, Gus and Andy Greenfield).

From the bowling department, the team was quite one dimensional this year, with Matt Francis bowling approximately 25% of the overs for the year (129), and taking 30% of the wickets (28). This effort is highlighted in a number of games, but the one which stands out is the game against the eventual champions North Balwyn, after the team was bowled out for 91, Shwatta bowled a fantastic spell and took the first 5 wickets before North Balwyn had scored 50 runs. He finished up with 5/37 off 13 overs, and all the wickets were taken behind the wicket. There were two other bowlers who took a significant total of wickets this year, Charlie Ring from 4 games (40 overs, 10 wickets) and Andy Greenfield (69 overs, 13 wickets).

There are a number of people I'd like to thank from the team, my vice captain - Andy Greenfield, Brendan, Pete Lynch, Shwatta and the other senior guys who played throughout the year.

Stevie, Benny, Brad, Morrow, Chris and Robbie for their efforts to captain each of the teams throughout the year.

Moorey, Luke, Marty, Ben and all the coaching and training staff, the selection committee (Rowan, Jack, Russ), and the STC Committee for all their hard work - as without them we would not get on the park.

#### **DANIEL SHARPE**

THIRD XI CAPTAIN

# **THIRD XI STATS 2009/10**

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Anthony J	09/10	3	140	3	46.7	1	0	90	0	5	-	0	0/5	0	-	-
Beaton T	06/07	2	83	2	41.5	0	0	48	-	-	-	-	-	-	1	0
Burt D	92/93	3	99	3	33.0	1	0	59	-	-	-	-	-	0	-	-
Coyle B	03/04	1	61	1	61.0	0	0	40	0	107	-	0	0/45	3	-	-
Craine B	02/03	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
D'Addazio A	04/05	2	26	2	13.0	0	0	25	-	-	-	-	-	1	-	-
D'Addazio F	07/08	3	102	3	34.0	1	0	68	2	27	13.5	0	2/14	2	-	-
David B	07/08	9	99	9	11.0	0	0	29	3	197	65.7	0	3/31	2	-	-
Doyle D	07/08	3	17	2	8.5	0	0	8*	7	175	25.0	0	3/51	2	-	-
Elliott G	01/02	1	45	2	22.5	0	0	42	-	-	-	-	-	2	-	-
Francis M	98/99	10	10	6	1.7	0	0	4	28	392	14.0	2	6/54	2	-	-
Fraser C	05/06	1	40	1	40.0	0	0	40	0	23	-	0	0/23	0	-	-
Greenfield A	05/06	12	186	14	13.3	0	0	31	13	278	21.4	0	4/43	5	-	-
Hamilton A	06/07	2	104	3	34.7	1	0	79	5	55	11.0	0	3/31	0	-	-
Javernik L	09/10	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Jeyakumar H	06/07	9	46	4	11.5	0	0	19*	8	222	27.7	0	2/34	2	-	-
Jowett S	05/06	3	78	3	26.0	0	0	36	-	-	-	-	-	2	-	-
Krohn A	06/07	3	78	3	26.0	1	0	53*	4	57	14.2	0	2/12	0	-	-
Krohn J	74/75	1	10	1	10.0	0	0	10	-	-	-	-	-	0	-	-
Lynch M	94/95	4	29	3	9.7	0	0	13	2	121	60.5	0	1/6	1	-	-
Lynch P	89/90	8	104	9	11.6	0	0	30	-	-	-	-	-	4	-	-
McFarlane D	09/10	1	-	-	-	-	-	-	1	28	28.0	0	1/28	0	-	-
Moore D	09/10	5	77	6	12.8	0	0	33	3	146	48.7	0	2/49	2	-	-
Moyle G	05/06	1	19	1	19.0	0	0	19	-	-	-	-	-	0	-	-
O'Connell J	02/03	1	7	1	7	0	0	7	-	-	-	-	-	1	-	-
Pane C	08/09	2	9	2	4.5	0	0	5	-	-	-	-	-	1	-	-
Purcell A	93/94	1	12	1	12.0	0	0	12	-	-	-	-	-	0	-	-
Ring C	09/10	4	45	3	15.0	0	0	22	10	125	12.5	1	5/50	0	-	-
Rowe S	98/99	2	11	2	5.5	0	0	6	0	13	-	0	0/13	2	-	-
Sandilands D	92/93	1	1	0	-	0	0	1*	-	-	-	-	-	0	-	-

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Sandilands T	98/99	2	18	2	9.0	0	0	12	•	-	-	ı	-	1	1	-
Sapharu G	08/09	4	54	5	10.8	0	0	16	1	67	67.0	0	1/33	0	-	-
Sharpe D	03/04	10	361	11	32.8	0	1	154*	-	-	-	-	-	5	4	0
Sharpe T	05/06	6	48	4	12.0	0	0	24	-	-	-	-	-	-	6	2
Sierakowski L	09/10	1	29	1	29.0	0	0	29	-	-	-	1	ı	0	1	-
Smith D	99/00	2	19	2	9.5	0	0	17	0	55	-	0	0/9	0	-	-
Sturesteps A	09/10	1	7	1	7.0	0	0	7	0	42	-	0	0/42	1	1	-
Zennaro P	88/89	4	55	4	13,8	1	0	51	-	-	-	-	-	0	-	-

#### TEAM AWARDS

Batting Champion – Daniel Sharpe Bowling Champion – Matthew Francis Team Champion – Andrew Greenfield

# TEAM RECORDS 2009/10: THIRD XI

WKT	PARTNERS	Runs	OPPOSITION
1	A Greenfield & P Lynch	46	Wyclif
2	A Greenfield & T Sharpe	31	Glen Iris
3	D Burt & D Sharpe	137	Ashwood
4	D Sharpe & F D'Addazio	87	Wyclif
5	A Hamilton & D Sharpe	63	Mazenod Old Collegians
6	J Anthony & T Sharpe	61	Trinity Willison
7	T Beaton & S Jowett	43	Trinity Willison
8	S Jowett & B David	30	Burwood Uniting Canterbury
9	D Moore & H Jeyakumar	49	Glen Iris
10	T Sharpe & B David	17	North Balwyn

TEAM'S HIGHEST SCORE	4/265	Ashwood
TEAM'S LOWEST SCORE	91	North Balwyn
HIGHEST SCORE AGAINST	7/287	Trinity Willison
LOWEST SCORE AGAINST	46	Glen Iris
HIGHEST INDIVIDUAL SCORE	D Sharpe	154* v Ashwood
HIGHEST AGGREGATE	D Sharpe	361 @ 32.8
BEST BOWLING PERFORMANCE	M Francis	6/54 v Burwood Uniting Canterbury
MOST WICKETS IN SEASON	M Francis	28 @ 14.0
MOST CATCUES IN SEASON (SISIDED)	D Sharpe	5
MOST CATCHES IN SEASON (FIELDER)	A Greenfield	5
MOST CATCHES IN SEASON (KEEPER)	T Sharpe	6
MOST STUMPINGS IN SEASON	T Sharpe	2

# OVERALL TEAM RECORDS TO END 2009/10: THIRD XI

MOST CATCHES IN A SEASON

MOST STUMPINGS IN A SEASON

Wĸt	PARTNERS	Runs	OPPOSITION	SEASON
1	B Finnigan & R McGregor	178	Adult Deaf	1978/79
2	M Sheehan & N Hodgson	259	Mazenod OC	2002/03
3	J Krohn & L Fisicaro	241	S A Waverley	2001/02
4	N Hodgson & P Lynch	244*	Mazenod O C	2001/02
5	G Walker & A Murray	201	Bulleen	1984/85
6	A Purcell & D Kerr	138	Glen Iris	2007/08
7	A Tracey & G Chard	134	West Hawthorn	1998/99
8	S Joyce & D Burt	147	Nth Balwyn	1996/97
9	A Classon & M Funnell	98	S A Waverley	2002/03
10	K Lynch & J Murray	103	Glen Iris	1985/86
TEAM'S	S HIGHEST SCORE	9/479	Kooyong	1992/93
TEAM'S	S LOWEST SCORE	47	Bulleen	1976/77
HIGHE	ST SCORE AGAINST	4/431	Mulgrave	1977/78
Lowes	T SCORE AGAINST	14	Burnley	1977/78
HIGHE	ST INDIVIDUAL SCORE	189	Tim Allen	1986/87
HIGHE	ST AGGREGATE	770	Basil Finnigan	1978/79
BEST B	OWLING PERFORMANCE	8/25	Kevin Lynch	1981/82
Most	WICKETS IN A SEASON	69	Basil Finnigan	1978/79
1105		21	Doug Baguley	1974/75
T20AA	CATCHES IN A SEASONI			+

21

5

Tim Allen

Mick Drew

1993/94

1983/84

#### FOURTH XI REPORT

The 4<sup>th</sup> XI had a challenging year on a number of fronts, but with the exception of our matches against the eventual premiers, we were more than competitive including victories over all of the other bottom four sides.

I would like the thank the other 45 players who joined me in representing STC in the 4<sup>th</sup> XI, which included eleven players under the age of 16 and seven others who hadn't played at the club before this season. In particular I'd like to thank some of the experienced players for their support and knowledge of the game, Paul Zennaro, Jack Krohn, Pete McDonald and my vice captain Stirling Rowe who was always supportive and never let me forget to have a sense of humour.

Whilst not playing finals cricket, there were many enjoyable moments and positive aspects to the season including:

- Being involved in the milestone games for two great club people and good mates of mine, Paul Zennaro (200 games) and Stirling Rowe (150 games).
- The outright victory over Richmond Union, they are not easy to achieve and this match had plenty of highlights; Jack and Bhavesh's 107 run partnership to achieve the initial win, the side overcoming injuries, young Tim 'balsa' Wood stepping up to clean up the tail during Richmond's second innings and the 1<sup>st</sup> XI Captain Stevie guiding the chase in front of the club returning from their respective games.
- The development players in the 4<sup>th</sup> XI, not only did they grow in confidence with their ability but also in the way they contributed to the interaction within the group. I thank them for their efforts and enthusiasm. I also hope that they got something out of the season that will contribute to their senior cricket going forward. Finally I would like to thank the parents of these young men for their support of the club and myself.

I will conclude by encouraging the club to continue to get behind the 4<sup>th</sup> XI as both a development side and 2-day side, I look forward to offering my support to the people who take on the leadership of this side for next season.

#### PETER MORRISON

FOURTH XI CAPTAIN

# **FOURTH XI STATS 2009/10**

Player	From	Gms	Rns	) <b>9</b> /   Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Anthony J	09/10	1	28	2	14.0	0	0	27	0	24	-	0	0/24	1	-	_
Beaton T	06/07	2	-	_	-	_	-	_	_	_	_	-	-	_	1	0
Brebner- Griffin A	09/10	3	1	3	0.3	0	0	1	2	103	25.7	0	2/0	1	-	-
Burt D	92/93	1	44	1	44.0	0	0	44	-	-	-	-	-	0	-	-
Casha T	03/04	1	81	2	40.5	1	0	51	1	28	28.0	0	1/28	0	-	-
Crilly S	09/10	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
Doran M	09/10	10	26	4	6.5	0	0	11	5	175	35.0	0	1/5	4	-	-
Downie J	05/06	3	65	3	21.7	0	0	39	5	38	7.6	0	3/25	1	-	-
Dwyer A	00/01	2	2	1	2.0	0	0	2	-	-	-	-	-	-	1	0
Elliott G	01/02	1	17	1	17.0	0	0	17	-	-	-	-	-	0	-	-
Francis M	98/99	2	1	1	1.0	0	0	1	2	60	30.0	0	1/23	1	-	-
Gordon A	06/07	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Griffin J	09/10	1	19	1	19.0	0	0	19	-	-	-	-	-	0	-	-
Hamilton A	06/07	3	20	2	10.0	0	0	20	3	137	45.7	0	1/37	2	-	-
Hando D	09/10	2	14	2	7.0	0	0	12	-	-	-	-	-	0	-	-
Hennessy D	08/09	5	26	3	8.7	0	0	15	3	81	27.0	0	2/25	1	-	-
Holden K	09/10	1	12	0	-	0	0	12*	-	-	-	-	-	1	-	-
Hoy S	86/87	1	-	ı	-	-	-	-	-	-	-	-	-	0	-	-
lyer H	08/09	2	20	2	10.0	0	0	12	0	30	-	0	0/30	0	3	0
Knox J	02/03	5	56	1	56.0	0	0	28	7	118	16.9	0	3/36	1	-	-
Krohn J	74/75	10	270	9	30.0	1	0	84	-	-	-	-	-	2	5	4
Lamb T	09/10	3	27	3	9.0	0	0	15	0	8	-	0	0/8	3	-	1
Lambert A	09/10	5	51	5	10.2	0	0	17	-	-	-	-	-	0	5	0
Lynch P	89/90	1	16	2	8.0	0	0	16	-	-	-	-	-	0	-	-
McDonald P	08/09	4	43	3	14.3	0	0	33	-	-	-	-	-	1	-	-
McDonald R	09/10	3	7	1	7.0	0	0	4	1	54	54.0	0	1/23	0	-	-
McFarlane D	09/10	7	30	4	7.5	0	0	13	7	191	27.3	0	2/18	0	-	-
Moore D	09/10	3	8	2	4.0	0	0	4	4	38	9.5	0	4/13	0	-	-
Morrison P	99/00	13	220	11	20.0	1	0	50	23	320	13.9	0	4/23	3	-	-
Moyle G	05/06	1	1	1	1.0	0	0	1	-	-	-	-	-	0	-	-
Murray A	78/79	1	40	1	40.0	0	0	40	-	_	_	_	_	0	-	_

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Newth J	09/10	1	11	1	11.0	0	0	11	0	24	-	0	0/24	0	-	-
O'Connell J	02/03	1	6	0	-	0	0	6*	-	-	-	-	-	0	-	-
O'Connell S	93/94	1	75	0	-	-	-	43*	0	14	-	0	0/14	1	-	-
Ogura K	09/10	3	1	1	1.0	0	0	1	1	49	49.0	0	1/40	0	-	-
Pandya B	08/09	5	66	5	13.2	1	0	54	1	48	48.0	0	1/48	1	-	-
Rowe S	98/99	8	135	8	16.9	1	0	72	14	282	20.1	0	3/19	2	-	-
Sandilands D	92/93	1	-	-	-	-	-	-	0	28	-	0	0/28	0	-	-
Sandilands T	98/99	3	4	3	1.3	0	0	4	-	-	-	-	-	3	-	-
Sapharu G	08/09	6	225	6	37.5	1	1	103	12	135	11.3	0	4/46	1	-	-
Shallue M	09/10	2	3	2	1.5	0	0	2	0	15	-	0	0/15	0	-	-
Sharpe D	03/04	1	46	2	23.0	0	0	31	0	27	-	0	0/27	1	-	-
Sist L	09/10	1	2	1	2.0	0	0	2	0	25	-	0	0/25	0	-	-
Smith D	99/00	1	1	0	-	0	0	1*	0	19	-	0	0/19	1	-	-
Wood T	08/09	10	72	5	14.4	0	0	22	12	237	19.8	0	3/8	1	-	-
Zennaro P	88/89	5	112	5	22.4	0	0	35	0	33	-	0	0/33	2	-	-

#### TEAM AWARDS

Batting Champion – Jack Krohn Bowling Champion – Peter Morrison Team Champion – Peter Morrison

# TEAM RECORDS 2009/10: FOURTH XI

WKT	PARTNERS	Runs	OPPOSITION
1	J Krohn & G Sapharu	103	Boroondara
2	J Krohn & P Morrison	74	Clifton Hill
3	S O'Connell & P Zennaro	61*	Richmond Union
4	J Krohn & B Pandya	107	Richmond Union
5	J Krohn & S Rowe	78	Burwood Uniting Canterbury
6	P McDonald & H lyer	54	Heathmont
7	A Murray & J Knox	36	Boroondara
8	P Morrison & J Newth	20	Burwood Uniting Canterbury
9	J Knox & D McFarlane	39	Heathmont
10	T Wood & M Doran	19	Burwood Uniting Canterbury

TEAM'S HIGHEST SCORE	9/237	Boroondara
TEAM 5 HIGHEST SCORE	8/237	Richmond Union
TEAM'S LOWEST SCORE	81	Boroondara
HIGHEST SCORE AGAINST	315	Heathmont
LOWEST SCORE AGAINST	67	Richmond Union
HIGHEST INDIVIDUAL SCORE	G Sapharu	103 v Boroondara
HIGHEST AGGREGATE	J Krohn	270 @ 30.0
BEST BOWLING PERFORMANCE	D Moore	4/13 v Salvation Army Waverley
MOST WICKETS IN SEASON	P Morrison	23 @ 13.9
MOST CATCHES IN SEASON (FIELDER)	M Doran	4
MOST CATCUES IN SEASON (VEEDED)	A Lambert	5
MOST CATCHES IN SEASON (KEEPER)	J Krohn	5
MOST STUMPINGS IN SEASON	J Krohn	4

# OVERALL TEAM RECORDS TO END 2009/10: FOURTH XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	K Burt & K Lynch	181	Ashwood	1998/99
'	R Corbett & J Hall	181	Heathmont	2006/07
2	J Krohn & A Hamilton	179	St Barnabas	2007/08
3	M Pivetta & P Docherty	265	Burwood	1999/2000
4	R Singh & P Zennaro	153	Northern Maccabi	1995/96
5	D O'Connell & K Burt	216	Canterbury	1998/99
6	J Krohn & A Smith	120	North Balwyn	1984/85
7	P Zennaro & M Francis	137*	Ashburton Willows	2007/08
8	G Walker & D Zennaro	107	Donvale	1984/85
9	K Lynch & B Banks-Smith	86	Burwood Uniting	1999/2000
10	T Sandilands & Tom Bach	110	Mulgrave	1998/99

	433	Marcellin OC	2005/06
TEAM'S HIGHEST SCORE	6/433 dec	Ashburton Willows	2007/08
TEAM'S LOWEST SCORE	29	Burnley CYMS	1985/86
HIGHEST SCORE AGAINST	6/476	Heathmont	1991/92
LOWEST SCORE AGAINST	32	Nth East Jewish	1983/84
HIGHEST INDIVIDUAL SCORE	203	John Krohn	1984/85
HIGHEST AGGREGATE	723	John Krohn	1984/85
BEST BOWLING PERFORMANCE	9/48	Chris Wood	1991/92
MOST WICKETS IN A SEASON	41	Chris Wood	1991/92
MOST CATCHES IN A SEASON	16	John Krohn	1984/85
MOST STUMPINGS IN A SEASON	9	John Krohn	1984/85

#### FIFTH XI REPORT

STC's 5<sup>th</sup> XI season was a wild ride. We started out with just 2 wins from the first 9 games and then came home like a rampaging bull winning all of our last 9 games; 4 of which being against the top 4 teams. While we missed the finals by a game and so could not challenge for the Premiership we could take solace in knowing that, by round 18, we were the Premier team.

The 5<sup>th</sup>s racked some striking numbers that should be highlighted:

- We played 69 players throughout the season, which is an STC record by a substantial margin (11).
- We only qualified our 10<sup>th</sup> and 11<sup>th</sup> players for the finals (if we made it) by the 18<sup>th</sup> game.
- We blooded 12 juniors to 5<sup>th</sup>s cricket, all of which were given, and competently took their chance to contribute with bat or ball. Kai Ogura was a standout from the juniors often humbling quality batsmen who were twice his age.

In the second half of the season the 5ths were unbeatable. This came on the back of more regular appearances from the Calvin Pane, Cam Fraser, Jake Newth, Aaron Teelow, Steve Ross, Brendan David and improved performances from Rohan McDowall and captain Chris Giannakopoulos. But it must be also be emphasized that 1<sup>st</sup> / 2<sup>nd</sup> 11 players Adam D'Addazio, Beau Coyle and David Spithill helped us greatly along the way.

There were a number of great performances from players throughout the season. Here are just a few:

- Calvin Pane in only 6 innings made 283 runs at an average of 94.3 with 2 fifties and one hundred and won us 2 games off his own bat.
- Rohan McDowall made 510 runs in 14 innings at an average of 51 including one hundred and three 50's.
- Cam Fraser took 17 wickets at an average of 21 and made 165 runs, with 1 fifty, at a batting average of 24 in his 12 games..
- Jake Newth took 25 wickets at an average of 19 and may become a great pinch hitter.
- Chris Giannakopoulos made 362 runs at an average of 26 including 3 fifties and often nullified the best opposition bowlers.
- Dan Smith took 10 wickets at an average of 17.5.
- When we needed runs or wickets Hari Iyer and Brendan David both produced.
- A D'Addazio: 2/4, D Spithill: 1/12 provided stunning numbers.

Our fielding was at times was woeful (12+ catches dropped in a certain game that we still somehow won) and at other times sublime catching every half chance and stopping everything in the field. With 69 different players in the 5ths our fielding was always going to be variable. Keeping duties were mostly shared between Hari and Ro who both did serviceable jobs: 10 wickets taken by each.

STC's 5<sup>th</sup> 11 missed the finals after winning 9 games in a row. But we ended our season as winners. As providence had it the semi-finals were washed out and so even if we made the finals we would have lost to the team above us due to the wash out. Result: We all got our long weekend without concern over the weather.

It must be said that the selection committee are to be commended. The 5ths were often were without a full team just hours before the game and STC's selection committee made sure that we had 11 starters.

Next year provides a plethora of opportunities for STC's 5ths. We know how half of the club plays and can fit them into our team based on our knowledge of how they have performed. STC's 5ths want a shot at giving STC its first LOC Premiership. 2010/2011 is ours for the taking.

#### **CHRIS GIANNAKOPOULOS**

FIFTH XI CAPTAIN

# **FIFTH XI STATS 2009/10**

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Bach S	00/01	2	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Bach Tim	98/99	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Banks-Smith B	98/99	1	27	1	27.0	0	0	27	0	35	-	0	0/35	1	-	-
Behan E	99/00	4	1	0	-	0	0	1*	2	112	56.0	0	2/43	2	-	-
Borg B	03/04	1	63	1	63.0	1	0	63	2	39	19.5	0	2/39	0	-	-
Brebner Griffin A	09/10	2	11	1	11.0	0	0	6	0	28	-	0	0/8	0	-	-
Burt D	92/93	1	18	1	18.0	0	0	18	-	-	-	-	-	0	-	-
Classon C	99/00	1	35	1	35.0	0	0	35	1	32	32.0	0	1/32	2	-	-
Colman L	02/03	1	18	0	-	0	0	18*	0	41	-	0	0/41	1	-	-
Coyle B	03/04	3	47	2	23.5	0	0	43	5	73	14.6	0	2/23	2	-	-
Craine B	02/03	1	10	1	10.0	0	0	10	-	-	-	-	-	0	-	-
Curry A	91/92	1	3	1	3.0	0	0	3	-	-	-	-	-	1	-	-
D'Addazio A	04/05	2	-	-	-	-	-	-	4	24	6.0	0	2/4	0	-	-
David B	07/08	4	20	2	10.0	0	0	13	9	132	14.7	0	4/26	1	-	-
D'Cruz D	96/97	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Donovan C	09/10	1	23	0	-	0	0	23*	0	27	-	0	0/27	0	-	-
Doran M	09/10	1	-	-	-	-	-	-	0	13	-	0	0/13	0	-	-
Doran P	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Duncan H	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Elliott G	01/02	1	31	0	-	0	0	31*	-	-	-	-	-	0	-	-
Fairbrother S	09/10	1	28	1	28.0	0	0	28	0	39	-	0	0/39	0	-	-
Fennessy J	04/05	1	-	-	-	-	-	-	3	44	14.7	0	3/44	0	-	-
Fennessy N	01/02	7	75	5	15.0	0	0	21	0	14	-	0	0/14	2	-	-
Fraser C	05/06	12	165	7	23.6	1	0	60	17	357	21.0	0	4/60	5	-	-
Funnell M	99/00	1	5	0	-	0	0	5*	2	39	19.5	0	2/39	0	-	-
Giannakopoulos	08/09	14	343	14	24.5	3	0	74	-	-	-	-	-	2	-	-
C Gordon A	06/07	4	13	4	3.3	0	0	8	-	-	-	-	-	2	-	-
Greenfield A	05/06	1	-	-	-	-	-	-	0	14	-	0	0/14	0	-	-
Hamilton A	06/07	1	19	1	19.0	0	0	19	1	35	35.0	0	1/35	0	-	-
Hamilton C	09/10	1	4	1	4.0	0	0	4	2	47	23.5	0	2/47	1	-	-
Hando D	09/10	1	-	-	-	-	-	-	0	6	-	0	0/6	0	-	-

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Hennessy D	08/09	5	19	3	6.3	0	0	14	3	39	13.0	0	2/30	2	-	-
Hubbard D	04/05	1	13	1	13.0	0	0	13	0	27	-	0	0/27	1	-	-
lyer H	08/09	11	102	6	17.0	0	0	34	2	122	61.0	0	1/20	1	5	1
Jeyakumar H	06/07	1	-	-	-	-	-	-	1	23	23.0	0	1/23	0	-	-
Jogiya S	08/09	1	0	0	-	0	0	0*	-	-	-	-	-	0	-	-
Keating M	09/10	2	76	1	76.0	1	0	61*	5	58	11.6	0	4/38	0	-	-
Klein D	08/09	2	37	2	19.5	0	0	31	5	66	13.2	0	3/34	0	-	-
Knox J	02/03	1	-	-	-	-	-	-	2	25	12.5	0	2/25	1	-	-
Krohn J	74/75	2	36	1	36.0	0	0	36	-	-	-	-	-	-	3	0
Lamb T	09/10	11	152	9	16.9	0	0	38	1	36	36.0	0	1/1	3	-	-
Lambert A	09/10	2	22	1	22.0	0	0	22	-	-	-	-	-	0	0	0
Lynch M	94/95	2	9	1	9.0	0	0	6*	1	50	50.0	0	1/18	0	-	-
Lynch P	89/90	1	16	0	-	0	0	16*	-	-	-	-	-	1	-	-
McDonald R	09/10	1	-	-	-	-	-	-	2	34	17.0	0	2/34	0	-	-
McDowall R	92/93	15	510	10	51.0	3	1	128*	0	47	-	0	0/6	2	11	0
Mercoulia P	99/00	1	25	1	25.0	0	0	25	0	9	-	0	0/9	0	-	-
Moyle G	05/06	1	39	1	39.0	0	0	39	1	21	21.0	0	1/21	0	3	0
Murray A	78/79	1	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Newth J	09/10	12	32	3	10.7	0	0	11	28	471	16.8	1	5/40	2	-	-
Nixon D	99/00	1	19	1	19.0	0	0	19	-	-	-	-	-	1	-	-
O'Connell J	02/03	1	0	0	-	0	0	0*	-	-	-	-	-	0	-	-
Ogura K	09/10	6	1	1	1.0	0	0	1	6	219	36.5	0	3/33	0	-	-
Pandya B	08/09	2	1	2	0.5	0	0	1	5	104	20.8	0	3/70	1	-	-
Pane C	08/09	6	283	3	94.3	2	1	115*	3	95	31.7	0	2/37	2	-	-
Richards C	09/10	1	31	0	-	0	0	31*	0	25	-	0	0/25	0	-	-
Ross S	90/91	6	118	5	23.6	0	0	38	0	19	-	0	0/19	1	-	-
Sandilands T	98/99	1	2	1	2.0	0	0	2	1	44	44.0	0	1/44	0	-	-
Shacklock D	88/89	1	9	1	9.0	0	0	9	0	25	-	0	0/25	1	-	-
Shallue M	09/10	3	78	3	26.0	1	0	77	-	-	-	-	-	1	-	-
Sist L	09/10	1	-	-	-	-	-	-	4	42	10.5	0	4/42	0	-	-
Smith D	99/00	6	87	4	21.8	0	0	37	10	175	17.5	0	4/23	1	-	-
Spithill D	97/98	2	75	1	75.0	1	0	75*	2	35	17.5	0	1/12	0	-	-

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Teelow A	01/02	6	154	5	30.8	1	0	64	2	52	26.0	0	1/20	6	-	-
Thomas M	09/10	2	24	2	12.0	0	0	17	1	78	78.0	0	1/21	0	-	-
Timms P	09/10	1	5	0	-	0	0	5*	-	-	-	-	-	0	-	-
Warcaba P	87/88	1	44	1	44.0	0	0	44	0	14	-	0	0/14	2	-	-
Wood T	08/09	2	-	-	-	-	-	-	2	72	36.0	0	2/34	0	-	-

#### TEAM AWARDS

Batting Champion – Rohan McDowall Bowling Champion – Jake Newth Team Champion – Rohan McDowall

# TEAM RECORDS 2009/10: FIFTH XI

WKT	PARTNERS	Runs	OPPOSITION
1	C Giannakopoulos & N Fennessy	93	South Camberwell
2	C Giannakopoulos & D Klein	100	Glen Iris
3	C Pane & R McDowall	126*	South Camberwell
4	P Warcaba & M Shallue	91	South Camberwell
5	M Keating & B Coyle	80	Bulleen
6	R McDowall & J Krohn	76	South Camberwell
7	D Spithill & C Fraser	96*	Manningham
8	D Nixon & D Smith	55	Abbotsford Anglers
9	J Newth & C Donovan	30	Boronia Churches
10	C Richards & A Lambert	50	Glen Iris

TEAM'S HIGHEST SCORE	2/285	South Camberwell
TEAM'S LOWEST SCORE	132	Boronia Churches
HIGHEST SCORE AGAINST	307	Boronia Churches
LOWEST SCORE AGAINST	58	St Barnabas
HIGHEST INDIVIDUAL SCORE	R McDowall	128* v AYC
HIGHEST AGGREGATE	R McDowall	510 @ 51.0
BEST BOWLING PERFORMANCE	J Newth	5/40 v Melbourne Deaf
MOST WICKETS IN SEASON	J Newth	28 @ 16.8
MOST CATCHES IN SEASON (FIELDER)	A Teelow	6
MOST CATCHES IN SEASON (KEEPER)	R McDowall	11
MOST STUMPINGS IN SEASON	H lyer	1

#### OVERALL TEAM RECORDS TO END 2009/10: FIFTH XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	N Fennessy & N Hodgson	228*	Melbourne Deaf	2006/07
2	N Hodgson & S Ross	184	Melbourne Deaf	2006/07
3	B Docherty & R McDowall	138	East Malvern RSL	2006/07
4	P Fisicaro & R McDowall	233*	Glen Iris	2007/08
5	R McDowall & J O'Connell	173	St Kevins OC	2008/09
6	B Pandya & C Dunne	106	Burwood	2008/09
7	D Spithill & C Fraser	96*	Manningham	2009/10
8	P Mercoulia & M Pivetta	144*	St Barnabas	2002/03
9	D Burt & M Byrne	60	Abbotsford Anglers	2003/04
10	T Beaton & M Francis	82*	East Malvern RSL	2003/04
TEAM'S	S HIGHEST SCORE	5/333	Abbotsford Anglers	2005/06
TEAM'S	S LOWEST SCORE	37	Heathmont	1999/00
HIGHE	ST SCORE AGAINST	373	Abbotsford Anglers	2005/06
Lowes	T SCORE AGAINST	63	Mont Albert	2003/04
HIGHE	ST INDIVIDUAL SCORE	156*	P Fisicaro	2007/08
HIGHE	ST AGGREGATE	855	N Hodgson	2006/07
BEST BO	OWLING PERFORMANCE	6/14	E Behan	2005/06
MOST WICKETS IN A SEASON		27	N Hodgson	2006/07
MOST CATCHES IN A SEASON		16	B Mannix	2003/04
11.		3	P Mercoulia	2002/03
MOST STUMPINGS IN A SEASON				

#### **CLUB XI REPORT**

The Club XI had a year so close but not close enough. After storming into the finals on the back of 5 wins in a row we were bumped out by the massive March storms and went home empty handed after setting ourselves up with a good chance to knock off eventual premier, St Barnabas.

After starting the year a bit bumpy with as many losses as wins we put a couple together only to lose a few more in a row. We came back after Xmas and took a while to get our team right and almost let the finals slip away. By the end of the year though we had beaten every team in the comp at least once, and the semi final probably only reminded us of what we could have had if we had have applied ourselves a little earlier.

Typical of a Club XI the social gathering after the game provided most of the fun and stories and can I thank all the guys who followed Digger and Fitzy's lead and hung around to have a cold ale.

Highlights were easy enough. Diggers amazing year with bat, ball and fielding. One of the best individual performances I have been lucky enough to see. Fitzy was also a star all year and was always the real leader on the field. Shippa Hoys amazing return and domination of the comp was the final piece of the puzzle that allowed as to get on a run. And Molly and Ranj coming back just gave us a huge boost.

Individual acts to mention for batting are Justin Murray's match winner century of 101 not out against Boronia Churches in amongst a lot of other great innings, Ross Moore's 100 against Borondara, Mark Molloy' unlucky 99 against Richmond City as an opener!, Shippa's 88 against Eastern Salvation Army and Ranj Singh's controlled 82 against Knox Churches to cement our final's place in the second last round.

Bowling was headed up by Shippa, Digger and Fitzy with 21, 21 and 29 wickets respectively, with Shippa's 6/15 against Hartwell, and Alex ABG Brebner-Griffin 5/37 also against Hartwell the stand outs.

Fielding efforts that deserve a mention were Derek Footman's sublime slips fielding including a screamer off Digger at first to get rid of the best bat in the comp, Smithy's always committed, and at times very entertaining fielding exploits, and finally Don D'Cruz's vast improvement as the year went on. The Bach boys also did a fantastic job behind the stumps in what became a little side comp for both.

To Fitzy and Digger who let me lead their team, to the club legends and all and sundry who I played with on the field and laughed with off it, to the committee and volunteers who make the whole thing run, especially Kylie Z who does such a wonderful job, I say thanks and wish you good fortune for next season

#### **ROBERT KIMBER**

CLUB XI CAPTAIN

## **CLUB XI STATS**

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Bach S	00/01	8	124	5	24.8	0	0	68	0	81	-	0	0/15	0	8	0
Bach Tim	98/99	8	18	4	4.5	0	0	9*	-	-	-	-	-	0	3	3
Behan E	99/00	6	11	2	5.5	0	0	4*	6	166	27.7	0	2/30	1	-	-
Blazevic D	07/08	8	27	4	6.8	0	0	9	3	107	35.7	0	2/33	2	-	-
Brebner- Griffon A	09/10	5	26	2	13.0	0	0	24	11	126	11.5	1	5/37	2	-	-
Chard G	91/92	2	9	1	9.0	0	0	9	-	-	-	-	-	0	-	-
Curry A	91/92	8	71	6	11.8	0	0	20	-	-	-	-	-	1	1	0
D'Cruz D	96/97	14	93	12	7.8	0	0	23	-	-	-	-	-	4	-	-
Docherty B	78/79	1	17	1	17.0	0	0	17	0	41	-	0	0/41	0	-	-
Doran M	09/10	3	1	0	-	0	0	1*	-	-	-	-	-	0	-	-
Doran P	09/10	2	31	1	31.0	0	0	31	2	52	26.0	0	1/4	0	-	-
Fitzwilliam E	73/74	17	292	14	20.9	2	0	56*	29	517	17.8	0	4/19	10	1	0
Footman D	09/10	9	147	9	16.3	0	0	38	-	-	-	-	-	3	-	-
Gemmell A	07/08	1	0	1	0.0	0	0	0	0	17	-	0	0/17	0	-	-
Griffin J	09/10	1	16	1	16.0	0	0	16	-	-	-	-	-	0	-	-
Hando D	09/10	6	21	3	7.0	0	0	9	2	72	36.0	0	1/17	0	-	-
Hando G	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Hoy S	86/87	7	339	4	84.8	4	0	88	20	201	10.0	1	6/15	3	-	-
Hutchison W	09/10	1	1	1	1.0	0	0	1	1	14	14.0	0	1/14	0	-	-
lyer H	08/09	1	-	-	-	-	-	-	-	-	-	-	-	-	2	0
Jaensch J	09/10	2	1	1	1.0	0	0	1	-	-	-	-	-	0	-	-
Jeyakumar H	06/07	1	34	0	-	0	0	34*	0	50	-	0	0/50	0	-	-
Jogiya S	08/09	2	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Kimber R	87/88	14	288	12	24.0	1	0	86	9	333	37.0	0	2/16	2	-	-
Knox J	02/03	1	0	1	0.0	0	0	0	1	21	21.0	0	1/21			
Krohn J	74/75	1	19	0	-	0	0	19*	-	-	-	-	-	-	1	0
Lagastes H	09/10	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Lambert A	09/10	4	39	4	9.8	0	0	18	-	-	-	-	-	0	2	1
Lynch P	89/90	1	45	1	45.0	0	0	45	-	-	-	-	-	0	-	-
McAleer B	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
McDonald P	08/09	1	19	1	19.0	0	0	19	-	-	-	-	-	2	-	-

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
McDonald R	09/10	3	39	2	19.0	0	0	22	5	57	11.4	0	3/16	0	-	-
Molloy M	85/86	11	195	7	27.9	1	0	99	11	311	28.3	0	2/11	2	-	-
Moore R		2	131	1	131.0	0	1	100	-	-	-	-	-	0	-	-
Murray A	78/79	1	9	1	9.0	0	0	9	-	-	-	-	-	1	-	-
Murray J	78/79	19	738	18	41.0	6	1	101*	21	622	29.6	0	3/37	6	-	-
O'Connell J	02/03	1	6	1	6.0	0	0	6	-	-	-	-	-	0	-	-
Ogura K	09/10	1	15	1	15.0	0	0	15	1	33	33.0	0	1/33	0	-	-
Sandilands T	98/99	1	0	0	-	0	0	0*	1	68	68.0	0	1/68	0	-	-
Sexton M	05/06	1	27	0	-	0	0	27*	1	28	28.0	0	1/28	2	-	0
Shallue M	09/10	1	22	1	22.0	0	0	22	-	-	-	-	-	2	-	-
Singh R	94/95	7	161	7	23.0	1	0	82	3	102	34.0	0	1/5	2	-	-
Sist L	09/10	1	0	1	0.0	0	0	0	1	37	37.0	0	1/37	1	-	-
Smith R	09/10	10	91	9	10.1	0	0	28	8	171	21.4	0	2/29	0	-	-
Stewart G	05/06	3	33	3	11.0	0	0	27	1	80	80.0	0	1/48	1	-	-
Timms P	09/10	1	6	1	6.0	0	0	6	-	-	-	-	-	0	-	-
Zambelli R	05/06	1	10	1	10.0	0	0	10	-	-	-	-	-	3	-	-

**TEAM AWARDS**Batting Champion – Justin Murray
Bowling Champion – Eugene Fitzwilliam
Team Champion – Justin Murray

## TEAM RECORDS 2009/10: CLUB XI

WKT	PARTNERS	Runs	OPPOSITION
1	J Murray & P Lynch	83	Boroondara
2	J Murray & D Footman	85	Richmond City
3	J Murray & E Fitzwilliam	80	Boronia Churches
4	E Fitzwilliam & A Lambert	77	Boroondara
5	M Molloy & R Singh	62	Knox Churches
6	S Hoy & M Molloy	88	Eastern Salvation Army
7	S Hoy & M Sexton	92*	Clifton Hill
8	R NcDonald & A Brebner-Griffin	32	Richmond City
9	S Bach & D Hando	47	Clifton Hill
10	R Kimber & E Behan	27	Hartwell OCG

TEAM'S HIGHEST SCORE	8/282	Richmond City
TEAM'S LOWEST SCORE	95	Hartwell OCG
HIGHEST SCORE AGAINST	4/310	Knox Churches
LOWEST SCORE AGAINST	114	Hartwell OCG
HIGHEST INDIVIDUAL SCORE	J Murray	101* v Boronia Churches
HIGHEST AGGREGATE	J Murray	738 @ 41.0
BEST BOWLING PERFORMANCE	S Hoy	6/15 v Hartwell
MOST WICKETS IN SEASON	E Fitzwilliam	29 @ 17.8
MOST CATCHES IN SEASON (FIELDER)	E Fitzwilliam	10
MOST CATCHES IN SEASON (KEEPER)	S Bach	8
MOST STUMPINGS IN SEASON	Tim Bach	3

# OVERALL TEAM RECORDS TO END 2009/10: CLUB XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	S Camilleri & P Mercoulia	332*	Ashburton	2004/05
2	R Zambelli & E Fitzwilliam	242*	North Balwyn	2006/07
3	N Hodgson & A Teelow	174	East Malvern RSL	2005/06
4	N Hodgson & S Ross	150*	St Kevins OC	2005/06
5	S Bailey & A Dawkins	155	Abbotsford Anglers	2002/03
6	G Stewart & T Cameron	93	Manningham	2008/09
7	S Hoy & M Sexton	92*	Clifton Hill	2009/10
8	A Webb & B Borg	49	Preshil	2007/08
9	R Kimber & D Hubbard	67	Burwood	2005/06
10	N Maskiell & T Michaelides	43	Abbotsford Anglers	2003/04
10	M McGrath & T Bach	43*	Abbotsford Anglers	2004/05

TEAM'S HIGHEST SCORE	7/382	South Camberwell	2006/07
TEAM'S LOWEST SCORE	81	Manningham	2008/09
HIGHEST SCORE AGAINST	333	South Camberwell	2006/07
LOWEST SCORE AGAINST	33	Donvale	2006/07
HIGHEST INDIVIDUAL SCORE	206*	S Camilleri	2004/05
HIGHEST AGGREGATE	738	J Murray	2009/10
BEST BOWLING PERFORMANCE	6/15	S Hoy	2009/10
MOST WICKETS IN A SEASON	38	S Bailey	2002/03
MOST CATCHES IN A SEASON	15	E Fitzwilliam	2006/07
MOST STUMPINGS IN A SEASON	4	E Fitzwilliam	2006/07

TOP TENS - 2009/10

	PLAYER	GAMES	Runs	AVERAGE
	J Murray	19	738	41.0
	J di Stefano	13	587	53.4
	S O'Connell	13	576	44.3
Most	R McDowall	15	510	51.0
RUNS	D Sharpe	11	407	31.3
SCORED	D O'Connell	12	354	29.5
	C Giannakopoulos	14	343	24.5
	S Hoy	8	339	84.8
	J Krohn	14	335	30.5
	B Banks-Smith	14	334	23.9

	PLAYER	GAMES	WICKETS	AVERAGE
	M Francis	12	30	15.1
	E Fitzwilliam	17	29	17.8
	J Newth	13	28	17.7
Most	L Colman	13	26	14.7
WICKETS	L D'Astoli	13	25	20.2
TAKEN	P Morrison	13	23	13.9
	A Classon	15	23	21.4
	J Murray	19	21	29.6
	S Hoy	8	20	10.0
	A D'Addazio	15	20	15.3

	PLAYER	CATCHES
	Tom Bach	10
	E Fitzwilliam	10
Most	M O'Connell	9
CATCHES	B Banks-Smith	9
(NON-	B Coyle	9
KEEPERS)	S Fairbrother	9
KEET EKS)	D O'Connell	8
	L D'Astoli, G Elliott	7
	T Lamb, J Murray, D Sharpe, A Teelow	6

	PLAYER	CATCHES	STUMPINGS	DISMISSALS
	S O'Connell	19	3	22
	T Sharpe	13	2	15
	J Krohn	9	4	13
WICKET	H lyer	10	1	11
KEEPERS	R McDowall	11	0	11
NEEPERS	J Di Stefano	10	0	10
	A Lambert	7	1	8
	S Bach	8	0	8
	Tim Bach	3	3	6
	G Moyle	3	0	3

TOP 10 PERFORMERS IN STC HISTORY

Most runs so	CORED	Most wickets	TAKEN	MOST GAMES I	PLAYED
PLAYER	Runs	PLAYER	WKTS	PLAYER	GAMES
John Krohn	10,572	Basil Finnigan	424	John Krohn	449
Kevin Burt	8,811	Greg Wignell	414	Kevin Burt	360
Bernard Docherty	8,774	Leigh Jondahl	376	Bernard Docherty	335
Rohan McDowall	7,293	Michael Mitchell	326	Kevin Lynch	310
Kevin Lynch	6,042	Kevin Lynch	313	Eugene Fitzwilliam	292
Patrick Docherty	5,957	Luke D'Astoli	312	Andrew Murray	287
Alan Yarwood	5,892	Richard Corbett	291	Patrick Docherty	275
Andrew Murray	5,810	Bernard Docherty	277	Peter Lynch	248
Julian di Stefano	5,329	Mark Molloy	266	Mark Molloy	242
Eugene Fitzwilliam	4,995	Patrick Wignell	258	J Murray	241

Most cate (non-keep		Тог	WICKET-KEEPER	S	
PLAYER	CATCHES	PLAYER	CATCHES	STPGS	DISMISSALS
Eugene Fitzwilliam	199	Kevin Burt	387	210	597
Bernard Docherty	175	John Krohn	262	59	325
Michael Wignell	113	Julian di Stefano	268	19	287
Andrew Murray	112	Steve O'Connell	201	33	234
Patrick Docherty	102	Tim Allen	171	24	195
Stuart McCulloch	102	Gary Chard	144	29	173
Peter Sandilands	101	Michael Drew	100	21	121
Justin Murray	99	Doug Baguley	80	19	99
Kevin Lynch	96	Ben Banks-Smith	75	8	83
Chris Hoare	91	David Robinson	55	14	69

Mos	SCORES OF 50 OR MORE		MOST CENTURIES		HIGHEST SCORES
55	Kevin Burt	17	Rohan McDowall	250*	Basil Finnigan
55	Bernard Docherty	13	John Krohn	228	Mark Robertson
53	Rohan McDowall	11	Alan Yarwood	223	Greg Wignell
52	John Krohn	9	Greg Wignell	223	Ross Moore
34	Steve O'Connell	9	Basil Finnigan	206*	Steve Camilleri
34	Julian di Stefano	9	Bernard Docherty	203	John Krohn
33	Alan Yarwood	8	Stephen Ross	190	Tom Bach
33	Greg Wignell	7	Chris Hoare	189	Tim Allen

## ALL PLAYER PERFORMANCES 2009/10

PLAYER	From	GMS	RNS	Out	Avg	50	100	Hs	Wκ	RNS	Avg	5WI	BB	C(F)	C(W)	ST
Anthony J	09/10	13	276	12	23.0	2	0	90	0	29	-	0	0/5	2	-	-
Bach S	00/01	10	124	5	24.8	0	0	68	0	81	-	0	0/15	0	8	0
Bach Tim	98/99	9	18	4	4.5	0	0	9*	-	-	-	-	-	0	3	3
Bach Tom	98/99	9	116	8	14.5	0	0	44*	-	-	-	-	-	10	-	-
Banks-Smith B	98/99	14	334	14	23.9	0	1	104*	4	129	32.2	0	2/21	9	-	-
Beaton T	06/07	4	83	2	41.5	0	0	48	-	-	-	-	-	-	2	0
Behan E	99/00	10	12	2	6.0	0	0	4*	8	278	34.7	0	2/30	3	-	-
Blazevic D	07/08	8	27	4	6.8	0	0	9	3	107	35.7	0	2/33	2	-	-
Borg B	03/04	1	63	1	63.0	1	0	63	2	39	19.5	0	2/39	0	-	-
Brebner-Griffin A	09/10	10	38	6	6.3	0	0	24	13	257	19.8	1	5/37	3	-	-
Burt D	92/93	12	237	11	21.5	1	0	59	-	-	-	-	-	2	-	-
Casha T	03/04	15	267	26	16.7	1	0	51	5	123	24.6	0	2/35	4	-	-
Chard G	91/92	2	9	1	9.0	0	0	9	-	-	-	-	-	0	-	-
Classon A	02/03	15	153	8	19.1	0	0	35	23	492	21.4	0	4/42	4	-	-
Classon C	99/00	1	35	1	35.0	0	0	35	1	32	32.0	0	1/32	2	-	-
Colman L	02/03	13	74	5	14.8	0	0	20	26	383	14.7	0	4/35	2	-	-
Coyle B	03/04	14	307	9	34.1	2	0	67	16	318	19.9	0	3/21	9	-	-
Craine B	02/03	7	24	5	4.8	0	0	10	6	186	31.0	0	4/55	1	-	-
Crilly S	09/10	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
Curry A	91/92	9	74	7	10.6	0	0	20	-	-	-	-	-	2	1	0
D'Addazio A	04/05	15	63	9	7.0	0	0	25	20	307	15.3	1	5/32	4	-	-
D'Addazio F	07/08	12	219	11	19.9	1	0	68	2	27	13.5	0	2/14	3	-	-
D'Astoli L	96/97	13	223	10	22.3	1	0	54*	25	505	20.2	0	4/21	7	-	-
David B	07/08	13	119	11	10.8	0	0	29	12	329	27.4	0	4/26	3	-	-
D'Cruz D	96/97	15	93	12	7.8	0	0	23	-	-	-	-	-	4	-	-
Di Stefano Julian	92/93	13	587	11	53.4	3	2	161*	-	-	-	-	-	1	10	0
Docherty B	78/79	1	17	1	17.0	0	0	17	0	41	-	0	0/41	0	-	-
Donovan C	09/10	1	23	0	-	0	0	23*	0	27	-	0	0/27	0	-	-
Doran M	09/10	14	27	4	6.8	0	0	11	5	188	37.6	0	1/5	4	-	-

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wκ	RNS	Avg	5WI	BB	C(F)	C(W)	ST
Doran P	09/10	3	31	1	31.0	0	0	31	2	52	26.0	0	1/4	0	-	-
Downie J	05/06	3	65	3	21.7	0	0	39	5	38	7.6	0	3/25	1	-	-
Doyle D	07/08	7	23	3	7.7	0	0	8*	15	321	21.4	0	4/51	2	-	-
Duncan H	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Dwyer A	00/01	2	2	1	2.0	0	0	2	-	-	-	-	-	-	1	0
Elliott G	01/02	10	223	9	24.8	0	0	46	-	-	-	-	-	7	-	-
Fairbrother S	09/10	13	209	10	20.9	0	0	45	10	340	34.0	0	3/28	9	-	-
Fennessy J	04/05	1	-	-	-	-	-	-	3	44	14.7	0	3/44	0	-	-
Fennessy N	01/02	7	75	5	15.0	0	0	21	0	14	-	0	0/14	2	-	-
Fisicaro P	99/00	5	74	5	14.8	1	0	56	8	102	12.7	0	4/33	2	-	-
Fitzwilliam E	73/74	17	292	14	20.9	2	0	56*	29	517	17.8	0	4/19	10	1	0
Flint R	06/07	12	250	11	22.7	1	0	75	0	31	-	0	0/8	5	-	-
Footman D	09/10	9	147	9	16.3	0	0	38	-	-	-	-	-	3	-	-
Francis M	98/99	12	11	7	1.6	0	0	4	30	452	15.1	2	6/54	3	-	-
Fraser C	05/06	13	205	8	25.6	1	0	60	17	380	22.4	0	4/60	5	-	-
Funnell M	99/00	1	5	0	-	0	0	5*	2	39	19.5	0	2/39	0	-	-
Gemmell A	07/08	1	0	1	0.0	0	0	0	0	17	-	0	0/17	0	-	-
Giannakopoulos C	08/09	14	343	14	24.5	3	0	74	-	-	-	-	-	2	-	-
Gordon A	06/07	5	15	5	3.0	0	0	8	-	-	-	-	-	2	-	-
Greenfield A	05/06	13	186	14	13.3	0	0	31	13	292	22.5	0	4/43	5	-	-
Griffin J	09/10	2	35	2	17.5	0	0	19	-	-	-	-	-	0	-	-
Hamilton A	06/07	10	177	10	17.7	1	0	79	11	256	23.2	0	3/31	3	-	-
Hamilton C	09/10	1	4	1	4.0	0	0	4	2	47	23.5	0	2/47	1	-	-
Hando D	09/10	9	35	5	7.0	0	0	12	2	78	39.0	0	1/17	0	-	-
Hando G	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Hennessy D	08/09	10	45	6	7.5	0	0	15	6	120	20.0	0	2/25	3	-	-
Holden K	09/10	1	12	0	-	0	0	12*	-	-	-	-	-	1	-	-
Hoy S	86/87	8	339	4	84.8	4	0	88	20	201	10.0	1	6/15	0	-	-
Hubbard D	04/05	1	13	1	13.0	0	0	13	0	27	-	0	0/27	1	-	-
Hutchison W	09/10	1	1	1	1.0	0	0	1	1	14	14.0	0	1/14	0	-	-

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Hynes C	00/01	2	13	2	6.5	0	0	8	1	36	36.0	0	1/36	0	-	-
lyer H	08/09	14	122	8	15.3	0	0	34	2	152	76.0	0	1/20	1	10	1
Jaensch J	09/10	2	1	1	1.0	0	0	1	-	-	-	-	-	0	-	-
Javernik L	09/10	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Jeyakumar H	06/07	11	80	4	20.0	0	0	34*	9	295	32.8	0	2/34	2	-	-
Jogiya S	08/09	2	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Jowett S	05/06	3	78	3	26.0	0	0	36	-	-	-	-	-	2	-	-
Keating M	09/10	2	76	1	76.0	1	0	61*	5	58	11.6	0	4/38	0	-	-
Kerr D	04/05	5	100	5	20.0	1	0	69	1	11	11.0	0	1/11	1	-	-
Kimber R	87/88	14	288	12	24.0	1	0	86	9	333	37.0	0	2/16	2	-	-
King A	08/09	12	228	10	22.8	0	0	44	2	42	21.0	0	2/18	3	-	-
Klein D	08/09	2	37	2	19.5	0	0	31	5	66	13.2	0	3/34	0	-	-
Knox J	02/03	7	56	2	28.0	0	0	28	10	164	16.4	0	3/36	2	-	-
Krohn A	06/07	13	96	7	13.7	1	0	53*	15	298	19.9	0	3/6	4	-	-
Krohn J	74/75	14	335	11	30.5	1	0	84	-	-	-	-	-	2	9	4
Lagastes H	09/10	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Lamb T	09/10	14	179	12	14.9	0	0	38	1	44	44.0	0	1/1	6	-	-
Lambert A	09/10	11	112	9	12.4	0	0	22	-	-	-	-	-	0	7	1
Lynch M	94/95	11	45	5	9.0	0	0	13	9	341	37.9	0	4/33	2	-	-
Lynch P	89/90	12	183	13	14.1	0	0	45	-	-	-	-	-	5	-	-
McAleer B	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
McDonald P	08/09	5	62	4	15.5	0	0	33	-	-	-	-	-	3	-	-
McDonald R	09/10	7	46	3	15.3	0	0	22	8	145	18.1	0	3/16	0	-	-
McDowall R	92/93	15	510	10	51.0	3	1	128*	0	47	-	0	0/6	2	11	0
McFarlane D	09/10	8	30	4	7.5	0	0	13	8	219	27.4	0	2/18	0	-	-
Mercoulia P	99/00	10	179	8	22.4	0	0	42	0	23	-	0	0/9	2	-	-
Molloy M	85/86	11	195	7	27.9	1	0	99	11	311	28.3	0	2/11	2	-	-
Moore D	09/10	8	85	8	10.6	0	0	33	7	184	26.3	0	4/13	2	-	-
Moore G	09/10	7	2	3	0.7	0	0	1*	17	399	23.5	0	3/45	1	-	-
Moore R	91/92	2	131	1	131.0	0	1	100	-	-	-	-	-	0	-	-

Moyle G Murray A Murray J Newth J Nixon D O'Connell J O'Connell D	99/00 05/06 78/79 78/79 09/10 99/00 02/03 96/97 99/00 93/94	13 3 19 13 1 4 12	220 59 49 738 43 19 21 354	11 3 2 18 4 1 2	20.0 19.7 24.5 41.0 10.8 19.0 10.5	1 0 0 6 0	0 0 0 1 0	50 39 40 101* 11	23 1 - 21 28	320 21 - 622	13.9 21.0 - 29.6	0 0 - 0	4/23 1/21 - 3/37	3 0 2 6	3 -	- 0 -
Murray A  Murray J  Newth J  Nixon D  O'Connell J  O'Connell D	78/79 78/79 09/10 99/00 02/03 96/97 99/00 93/94	3 19 13 1 4 12	49 738 43 19 21 354	2 18 4 1 2	24.5 41.0 10.8 19.0	0 6 0	0 1 0	40 101*	- 21	-	-	-	-	2	3 -	0 -
Murray J Newth J Nixon D O'Connell J O'Connell D	78/79 09/10 99/00 02/03 96/97 99/00 93/94	19 13 1 4 12	738 43 19 21 354	18 4 1 2	41.0 10.8 19.0	6 0 0	1 0	101*		622	29.6	- 0	3/37		-	-
Newth J Nixon D O'Connell J O'Connell D	09/10 99/00 02/03 96/97 99/00 93/94	13 1 4 12	43 19 21 354	1 2	10.8	0	0			622	29.6	0	3/37	6	_	
Nixon D O'Connell J O'Connell D	99/00 02/03 96/97 99/00 93/94	1 4 12	19 21 354	1 2	19.0	0		11	28		•	1	0,0.			-
O'Connell D	02/03 96/97 99/00 93/94	12	21 354	2		-	0		20	495	17.7	1	5/40	2	-	-
O'Connell D	96/97 99/00 93/94	12	354		10.5		0	19	-	-	-	-	-	1	-	-
	99/00			10		0	0	7	-	-	-	-	-	1	-	-
O'Connoll M	93/94	15		12	29.5	3	1	103	-	-	-	-	-	8	-	-
O Connen IVI			224	13	17.2	2	0	86	18	306	17.0	1	6/13	9	-	-
O'Connell S	00/40	13	576	13	44.3	2	1	141	0	14	-	0	0/14	1	19	3
Ogura K	09/10	10	17	3	5.7	0	0	15	8	301	37.6	0	3/33	0	-	-
Pandya B	08/09	7	67	7	9.6	1	0	54	6	152	25.3	0	3/70	2	-	-
Pane C	08/09	8	292	5	58.4	2	1	115*	3	95	31.7	0	2/37	3	-	-
Purcell A	93/94	1	12	1	12.0	0	0	12	-	-	-	-	-	0	-	-
Richards C	09/10	1	31	0	-	0	0	31*	0	25	-	0	0/25	0	-	-
Ring C	09/10	4	45	3	15.0	0	0	22	10	125	12.5	1	5/50	0	-	-
Ross S	90/91	6	118	5	23.6	0	0	38	0	19	-	0	0/19	1	-	-
Rowe S	98/99	10	146	10	14.6	1	0	72	14	295	21.1	0	3/19	4	-	-
Sandilands D	92/93	2	1	0	-	0	0	1*	0	28	-	0	0/28	0	-	-
Sandilands T	98/99	7	24	6	4.0	0	0	12	2	112	56.0	0	1/44	4	-	-
Sapharu G	08/09	10	279	11	25.4	1	1	103	13	202	15.5	0	4/46	1	-	-
Sexton M	05/06	1	27	0	-	0	0	27*	1	28	28.0	0	1/28	2	-	-
Shacklock D	88/89	1	9	1	9.0	0	0	9	0	25	-	0	0/25	1	-	-
Shallue M	09/10	6	103	6	17.2	1	0	77	0	15	-	0	0/15	3	-	-
Sharpe D	03/04	11	407	13	31.3	0	1	154*	0	27	-	0	0/27	6	-	-
Sharpe T	05/06	14	84	10	8.4	0	0	30	-	-	-	-	-	-	13	2
Sierakowski L	09/10	1	29	1	29.0	0	0	29	-	-	-	-	-	0	-	-
Singh R	94/95	8	161	7	23.0	1	0	82	3	102	34.0	0	1/5	2	-	-
Sist L	09/10	3	2	2	1.0	0	0	2	5	104	34.7	0	4/42	1	-	-
Smith D	99/00	9	107	6	17.8	0	0	37	10	249	24.9	0	4/23	2	-	-

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wκ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Smith R	09/10	10	91	9	10.1	0	0	28	8	171	21.4	0	2/29	0	-	-
Spithill D	97/98	13	189	7	27.0	2	0	75*	13	419	32.2	0	2/12	5	-	-
Stewart G	05/06	3	33	3	11.0	0	0	27	1	80	80.0	0	1/48	1	-	-
Sturesteps A	09/10	6	148	6	24.7	1	0	72	1	71	71.0	0	1/14	4	-	-
Teelow A	01/02	6	154	5	30.8	1	0	64	2	52	26.0	0	1/20	6	-	-
Thomas M	09/10	2	24	2	12.0	0	0	17	1	78	78.0	0	1/21	0	-	-
Timms P	09/10	2	11	1	11.0	0	0	6	-	-	-	-	-	0	-	-
Warcaba P	87/88	1	44	1	44.0	0	0	44	0	14	-	0	0/14	2	-	-
Wood T	08/09	12	72	5	14.4	0	0	22	14	309	22.1	0	3/8	1	-	-
Worthy R	03/04	13	49	6	8.2	0	0	13	18	353	19.6	0	4/17	5	-	-
Zambelli R	05/06	1	10	1	10.0	0	0	10	-	-	-	-	-	3	-	-
Zennaro P	88/89	11	180	11	16.4	1	0	51	0	33	-	0	0/33	2	-	-

# T20 AGGREGATE PERFORMANCES TO END 2009/10

PLAYER	GAMES	Runs	AVE	S/R	<b>50</b> s	HS	WKTS	Runs	AVE	S/R	E/R	B/B	CF	CW	ST	RO
Bach Tom	10	233	23.3	113.1	1	82	-	-	-	-	-	-	5	-	-	1
Banks-Smith B	4	28	9.3	90.3	0	16	1	17	17.0	18.0	5.7	1/12	0	-	-	0
Classon A	10	37	4.6	84.1	0	8	12	201	16.7	16.5	6.1	4/22	4	-	-	2
Colman L	3	-	-	-	-	-	3	76	25.3	20.0	7.6	3/24	0	-	-	1
Coyle B	1	2	2.0	66.7	0	2	-	-	-	-	-	-	0	-	-	0
D'Addazio A	3	2	-	200.0	0	2*	3	51	17.0	24.0	4.2	2/21	1	-	-	0
D'Astoli L	10	130	18.6	104.8	0	34	18	233	12.9	12.9	6.0	3/13	7	-	-	6
Fairbrother S	9	108	15.4	105.9	0	30	13	162	12.5	12.9	5.8	4/17	4	-	-	3
Fisicaro P	1	5	5.0	71.4	0	5	-	-	-	-	-	-	1	-	-	0
Flint R	10	48	5.3	70.6	0	19	0	11	-	-	5.5	0/11	7	-	-	3
King A	6	85	14.2	85.0	0	22	1	8	8.0	4.0	12.0	1/4	1	-	-	2
Mercoulia P	5	37	12.3	80.4	0	27*	-	-	-	-	-	-	1	-	-	1
Moore G	6	34	17.0	79.1	0	17	7	96	13.7	18.1	14.5	2/15	1	-	-	2
O'Connell D	8	125	15.6	120.2	1	59	-	-	-	-	-	-	1	-	-	0
O'Connell M	2	0	-	-	0	0*	0	18	-	-	18.0	0/18	1	-	-	0
O'Connell S	10	214	26.8	124.4	1	54*	-	-	-	-	-	-	-	9	0	5
Spithill D	4	22	11.0	88.0	0	17*	7	96	13.7	13.7	6.0	3/20	1	-	-	0
Worthy R	8	41	20.5	75.9	0	17*	8	176	22.0	21.7	6.1	2/24	6	-	-	0

# ALL PLAYER PERFORMANCES (AGGREGATE) TO END 2009/10

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wκ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
	_	1			_						AVG	_		_ ` _	C(W)	31
Anthony J	09/10	13	276	12	23.0	2	0	90	0	29	-	0	0/5	2	-	-
Bach S	00/01	13	173	8	21.6	1	0	68	0	81	-	0	0/15	0	8	0
Bach Tim	98/99	101	356	47	7.6	0	0	46	-	-	-	-	-	20	23	4
Bach Tom	98/99	102	2274	76	29.9	7	3	190	43	890	20.7	1	5/33	53	2	0
Banks-Smith B	98/99	142	2163	111	19.5	9	1	104*	18	585	32.5	0	4/14	26	75	8
Beaton T	06/07	24	301	15	20.1	1	0	55*	0	11	-	0	0/11	6	10	0
Behan E	99/00	150	494	74	6.7	0	0	25	83	2043	24.6	1	6/34	57	-	-
Blazevic D	07/08	33	172	20	8.6	0	0	19	14	316	22.6	0	3/28	4	-	-
Borg B	03/04	27	259	23	11.3	2	0	63	31	777	25.1	0	3/21	5	-	-
Brebner-Griffin A	09/10	10	38	6	6.3	0	0	24	13	257	19.8	1	5/37	3	-	-
Burt D	92/93	116	1843	88	20.9	8	1	103	86	2416	28.1	2	5/46	23	-	-
Casha T	03/04	61	756	67	11.3	3	0	64	32	928	29.0	1	7/88	18	-	-
Chard G	91/92	226	4102	170	24.1	15	3	131	1	39	39.0	0	1/17	22	144	29
Classon A	02/03	87	1157	61	19.0	1	1	183	129	2991	23.2	2	6/49	36	-	-
Classon C	99/00	108	2050	84	24.4	4	2	118*	29	704	24.3	0	4/21	33	-	-
Colman L	02/03	71	418	34	12.3	1	0	81*	107	2397	22.4	1	5/57	17	-	-
Coyle B	03/04	58	801	37	21.6	2	0	67	69	1625	23.6	1	5/20	29	-	-
Craine B	02/03	81	605	45	13.4	2	0	61	97	2284	23.5	0	4/38	25	-	-
Crilly S	09/10	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
Curry A	91/92	133	1876	132	14.2	6	0	78	-	-	-	-	-	32	10	0
D'Addazio A	04/05	44	193	17	11.4	0	0	44	75	1244	16.6	5	6/36	13	-	-
D'Addazio F	07/08	36	682	28	24.4	4	0	80	17	330	19.4	1	5/26	7	-	-
D'Astoli L	96/97	182	2599	124	21.0	11	1	112	312	6307	20.2	9	7/52	67	-	-
David B	07/08	30	218	20	10.9	0	0	29	24	695	29.0	0	4/26	14	-	-
D'Cruz D	96/97	37	435	33	13.2	1	0	77	-	-	-	-	-	7	-	-
Di Stefano Julian	92/93	214	5329	196	27.2	28	6	161*	2	62	31.0	0	1/17	11	268	19
Docherty B	78/79	335	8774	299	29.3	46	9	125	277	5978	18.3	6	6/17	175	2	0
Donovan C	09/10	1	23	0	-	0	0	23*	0	27	-	0	0/27	0	-	-
Doran M	09/10	14	27	4	6.8	0	0	11	5	188	37.6	0	1/5	4	-	-
	•				•								•	ė .	•	

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Doran P	09/10	3	31	1	31.0	0	0	31	2	52	26.0	0	1/4	0	-	-
Downie J	05/06	28	469	25	18.8	1	0	61	10	350	35.0	0	3/25	6	-	-
Doyle D	07/08	16	45	8	5.6	0	0	9	32	736	23.0	0	4/24	6	-	-
Duncan H	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Dwyer A	00/01	59	694	42	16.5	3	0	69	76	1208	15.9	2	6/22	31	1	0
Elliott G	01/02	103	2260	101	22.4	8	2	124	3	115	38.3	0	1/2	38	-	-
Fairbrother S	09/10	13	209	10	20.9	0	0	45	10	340	34.0	0	3/28	9	-	-
Fennessy J	04/05	22	76	13	5.8	0	0	35	33	677	20.5	0	4/48	8	-	-
Fennessy N	01/02	106	1562	71	22.0	8	2	146*	71	1680	23.7	0	4/34	39	-	-
Fisicaro P	99/00	123	2873	119	24.1	12	2	156*	53	1671	31.5	0	4/33	58	4	0
Fitzwilliam E	73/74	292	4995	242	20.6	18	1	100*	253	5276	20.8	7	8/27	199	37	8
Flint R	06/07	47	1174	39	30.1	6	1	122*	12	262	21.8	0	3/0	19	-	-
Footman D	09/10	9	147	9	16.3	0	0	38	-	-	-	-	-	3	-	-
Francis M	98/99	62	367	38	9.7	2	0	53	67	1322	19.7	3	6/54	12	-	-
Fraser C	05/06	45	729	35	20.8	6	0	66	63	1241	19.7	1	6/14	10	-	-
Funnell M	99/00	115	615	42	14.6	2	0	66	219	3874	17.7	8	7/62	21	-	-
Gemmell A	07/08	11	71	5	14.2											
Giannakopoulos C	08/09	25	470	24	19.6	3	0	74	10	106	10.6	1	5/17	2	-	-
Gordon A	06/07	26	118	19	6.2	0	0	33	2	52	26.0	0	1/12	7	-	-
Greenfield A	05/06	54	468	39	12.0	0	0	43*	63	1512	24.0	2	5/21	12	-	-
Griffin J	09/10	2	35	2	17.5	0	0	19	-	-	-	-	-	0	-	-
Hamilton A	06/07	35	676	31	21.8	2	1	107*	23	613	26.7	0	4/48	10	2	0
Hamilton C	09/10	1	4	1	4.0	0	0	4	2	47	23.5	0	2/47	1	-	-
Hando D	09/10	9	35	5	7.0	0	0	12	2	78	39.0	0	1/17	0	-	-
Hando G	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Hennessy D	08/09	22	154	12	12.8	1	0	56	9	282	31.3	0	2/25	8	-	-
Holden K	09/10	1	12	0	-	0	0	12*		-	-	-	-	1	-	
Hoy S	86/87	160	2837	124	22.9	16	3	107	191	2954	15.5	8	6/15	80	-	-
Hubbard D	04/05	44	296	29	10.2	1	0	50	40	1082	27.0	0	4/21	17	-	-
Hutchison W	09/10	1	1	1	1.0	0	0	1	1	14	14.0	0	1/14	0	-	-

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Hynes C	00/01	112	1096	63	17.4	6	0	67*	151	2815	18.6	2	6/34	43	-	-
lyer H	08/09	28	296	19	15.6	0	0	37	2	152	76.0	0	1/20	1	21	4
Jaensch J	09/10	2	1	1	1.0	0	0	1	-	-	-	-	-	0	-	-
Javernik L	09-10	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Jeyakumar H	06/07	27	155	10	15.5	1	0	50*	20	591	29.5	0	2/4	12	-	-
Jogiya S	08/09	6	11	3	3.6	0	0	6	-	-	-	-	-	0	-	-
Jowett S	05/06	27	730	27	27.0	2	1	130	-	-	-	-	-	9	-	-
Keating M	09/10	2	76	1	76.0	1	0	61*	5	58	11.6	0	4/38	0	-	-
Kerr D	04/05	29	540	25	21.6	2	1	147*	15	215	14.3	2	5/25	9	-	-
Kimber R	87/88	137	2612	124	21.1	9	2	119	86	2256	26.2	1	5/13	59	1	0
King A	08/09	25	473	18	26.3	2	0	81	2	49	24.5	0	2/18	5	-	-
Klein D	08/09	9	103	8	12.9	0	0	40	6	223	37.2	0	3/34	0	-	-
Knox J	02/03	77	342	33	10.4	0	0	32*	45	942	20.9	1	5/48	24	-	-
Krohn A	06/07	48	258	25	10.3	1	0	53*	55	1427	25.9	0	4/16	10	-	-
Krohn J	74/75	449	10572	428	24.7	39	13	203	6	137	22.8	0	1/0	85	262	63
Lagastes H	09/10	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Lamb T	09/10	14	179	12	14.9	0	0	38	1	44	44.0	0	1/1	6	-	-
Lambert A	09/10	11	112	9	12.4	0	0	22	-	-	-	-	-	0	7	1
Lynch M	94/95	121	1299	83	15.7	4	0	72	140	3252	23.2	4	6/19	59	-	-
Lynch P	89/90	248	4592	235	19.5	16	3	125	30	776	25.9	0	3/20	90	-	-
McAleer B	09/10	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
McDonald P	08/09	6	67	5	13.4	0	0	33	-	-	-	-	-	3	-	-
McDonald R	09/10	7	46	3	15.3	0	0	22	8	145	18.1	0	3/16	0	-	-
McDowall R	92/93	200	7293	185	39.4	36	17	158	6	257	42.8	0	2/14	74	37	4
McFarlane D	09/10	8	30	4	7.5	0	0	13	8	219	27.4	0	2/18	0	-	-
Mercoulia P	99/00	88	1897	69	27.5	10	1	107*	24	529	22.0	0	3/17	26	29	5
Molloy M	85/86	242	2522	161	15.7	5	1	128	266	6635	24.9	5	7/79	82	-	-
Moore D	09/10	8	85	8	10.6	0	0	33	7	184	26.3	0	4/13	2	-	-
Moore G	09/10	7	2	3	0.7	0	0	1*	17	399	23.5	0	3/45	1	-	-
Moore R	91/92	92	2326	86	27.0	7	5	223	3	216	72.0	0	?	37	-	1 -

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Morrison P	99/00	132	1074	81	13.3	1	0	50	166	3576	21.5	2	5/11	28	-	-
Moyle G	05/06	9	256	7	36.6	1	0	73	3	52	17.3	0	2/25	2	7	0
Murray A	78/79	287	5810	284	20.5	25	3	129*	15	297	19.8	0	4/41	112	1	0
Murray J	78/79	241	4383	200	21.9	16	5	123	210	5009	23.9	6	7/102	99	3	0
Newth J	09/10	13	43	4	10.8	0	0	11	28	495	17.7	1	5/40	2	-	-
Nixon D	99/00	75	1152	66	17.5	5	0	74	19	473	24.9	0	4/27	28	-	-
O'Connell J	02/03	35	383	22	17.4	2	0	76	4	35	8.7	0	4/27	5	12	0
O'Connell D	96/97	154	3198	141	22.7	17	3	153	52	1523	29.3	1	5/29	71	-	-
O'Connell M	99/00	93	1419	78	18.2	4	2	147*	33	708	21.5	1	6/13	45	2	0
O'Connell S	93/94	140	4820	127	38.0	27	7	176*	3	64	21.3	0	1/6	1	201	33
Ogura K	09/10	10	17	3	5.7	0	0	15	8	301	37.6	0	3/33	0	-	-
Pandya B	08/09	18	308	16	19.3	1	1	102	7	374	53.4	0	3/70	3	-	-
Pane C	08/09	13	360	10	36.0	2	1	115*	3	138	46.0	0	2/37	5	-	-
Purcell A	93/94	129	1534	88	17.4	5	1	115	85	2462	29.0	1	5/31	63	-	-
Richards C	09/10	1	31	0	-	0	0	31*	0	25	-	0	0/25	0	-	-
Ring C	09/10	4	45	3	15.0	0	0	22	10	125	12.5	1	5/50	0	-	-
Ross S	90/91	213	4834	178	27.7	22	8	164	9	179	19.9	0	3/5	87	-	-
Rowe S	98/99	154	1965	128	15.4	8	0	79	195	4705	24.2	4	7/55	64	-	-
Sandilands D	92/93	36	318	24	13.3	0	0	49	30	871	29.0	0	3/59	10	-	-
Sandilands T	98/99	59	669	46	14.5	3	0	80	28	837	29.9	0	4/39	25	-	-
Sapharu G	08/09	19	396	19	20.8	1	1	103	20	303	15.1	1	5/31	1	-	-
Sexton M	05/06	11	44	5	8.8	0	0	27*	1	54	54.0	0	1/28	2	5	0
Shacklock D	88/89	128	2030	92	22.1	11	1	100	125	2550	20.4	5	6/41	54	-	-
Shallue M	09/10	6	103	6	17.2	1	0	77	0	15	-	0	0/15	3	-	-
Sharpe D	03/04	88	2171	84	25.8	11	1	154*	2	119	59.5	0	2/37	33	43	1
Sharpe T	05/06	30	239	21	11.4	0	0	38*	-	-	-	-	-	2	31	2
Sierakowski L	09/10	1	29	1	29.0	0	0	29	-	-	-	-	-	0	-	-
Singh R	94/95	67	1165	57	20.4	7	0	86	97	1869	19.3	2	5/38	27	3	0
Sist L	09/10	3	2	2	1.0	0	0	2	5	104	34.7	0	4/42	1	-	-
Smith D	99/00	108	1027	46	22.3	3	0	84*	191	3732	19.5	2	5/34	39	-	-

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wκ	RNS	Avg	5WI	BB	C(F)	C(W)	ST
Smith R	09/10	10	91	9	10.1	0	0	28	8	171	21.4	0	2/29	0	-	-
Spithill D	97/98	153	2339	103	22.7	10	2	129	172	4276	24.9	5	6/47	57	-	-
Stewart G	05/06	50	667	40	16.7	2	0	83	38	1088	28.6	1	5/41	10	-	-
Sturesteps A	09/10	6	148	6	24.7	1	0	72	1	71	71.0	0	1/14	4	-	-
Teelow A	01/02	65	1566	48	32.6	9	1	114	33	842	25.5	1	5/24	38	-	-
Thomas M	09/10	2	24	2	12.0	0	0	17	1	78	78.0	0	1/21	0	-	-
Timms P	09/10	2	11	1	11.0	0	0	6	-	-	-	-	-	0	-	-
Warcaba P	87/88	90	2995	84	35.7	17	3	143	102	2207	21.6	6	6/28	58	-	-
Wood T	08/09	15	77	5	15.4	0	0	22	18	406	22.6	0	3/8	1	-	-
Worthy R	03/04	93	264	19	13.9	0	0	24*	182	2733	15.0	5	8/60	45	-	-
Zambelli R	05/06	40	1336	33	40.5	3	4	145*	2	58	29.0	0	1/1	15	-	-
Zennaro P	88/89	203	3744	196	19.1	13	4	145*	6	263	43.8	0	4/8	49	-	-